YEAR 3

Term 1
o K&
Small Steps: Key Questions: Vocabulary:
' * How have the beads been grouped? How does this help you to ~
1. Represent numbers to 100. Count? tens
g' ;artl’gonlrlumbe;sc)’(c)o 100. ¢ Is it quicker to count in tens or ones? ones
4' Humd e';i ine to ‘ . a ¢ How many tens do you have? How many ones do you have? 9r0uped
5' Run recs. o 1000 BB ¢ How many ones make 1 ten? count
6' Pepr.e.sent nurE ers t°1 000 : g ] ] *  How else can you show this number. represents
' art.Ltlon numoers to ' .... * How can you use the whole and this part to work out the digit
7. Flexible partitioning of missing part? 9
numbers to 1000. J part: . partitioning
* How can you use base 10 to draw a picture to help you
8. Hundreds, tens and ones. partition? part-whole
4. Find 1,10 or 100 more or * How can you complete the part-whole model in a different addition
less. + way? sentence
10. Number line to 1000. value
11. Estimate on a number line to
1000.
12. Compare numbers to 1000.
13. Order numbers to 1000. St Sent .
14. Count in 50’s. em Sentences:
* There are tens and ones. The number is

There are tens and ones. The number is

e ¢ The whole is . One part is . The other part is .
. tens and ones is the same as tens and ones.

* The represents groups of ten.
e * The represents extra ones.



14.

Small Steps:
Represent numbers to 100.
Partition numbers to 100.
Number line to 100.
Hundreds.

Represent numbers to 1000.
Partition numbers to 1000.

Flexible partitioning of numbers to

1000.

Hundreds, tens and ones.

Find 1, 10 or 100 more or less. +

Number line to 1000.

. Estimate on a number line to 1000.

Compare numbers to 1000.
Order numbers to 1000.
Count in 50's.

+ Complete the number lines.

12 30

How many marbles are there?

22100 55]) [72 100 55]) [22 100 =50

[22100 o5]) [22 100 50 [22 100 &5

» Complete the number track.

200‘300‘ |500| ‘

]

Key Questions:
What is the start point? What is the end point?
How many intervals are there? What is each interval worth?
What is the number line counting up in? How do you know?
Where would ____ be on the number line? How do you
Rnow?
Why can you only estimate the position of
number line?
When counting in 10’s, what number comes after 907?
If you count from zero in 100’s, will you say 40?
When counting in 100’s, what comes after 500? How do you
know?
How many tens are there in 100?
If there are 10 tens in 100, how many tens are there in 200?
How does the base 10 show that 100 is 10 times the size of
10?

on the

Stem Sentences:

That start point is and the end point is
There are ____intervals on the number line.
Each interval is worth

The number line is counting up in

There are tens in 100 and

means there are tens in

hundreds in

YEAR 3
Term 1

Key

Vocabulary:

number line
estimate
position
division
interval
hundreds
tens
equivalent
same
times the size
multiples
thousand
3-digit
multiple
base 10

. This
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10.
11.

12.
13.
14.

Small Steps:

Represent numbers to 100.
Partition numbers to 100.
Number line to 100.
Hundreds.

Represent numbers to
1000.

Partition numbers to 1000.
Flexible partitioning of
numbers to 1000.
Hundreds, tens and ones.
Find 1, 10 or 100 more or
less. +

Number line to 1000.
Estimate on a number line

to 1000.

Compare numbers to 1000.

Order numbers to 1000.
Count in 50's.

e

oot Moo oot [(Foo]

ol clioli- - o R

Complete the number sentences.

847 = 800 + 40 +

815 = +10+5

324 = 300 + +

Key Questions:
What is the value of each of the base 10 pieces?
How many hundreds are in the number? How many tens are in the
number? How many ones are in the number?
Why do you need to make an exchange when you have 12 tens?
Does the order in which you build the number matter?
How else can you represent the number?
How many hundreds/tens/ones are there in 465?
How do you write a number that has zero tens?
How do you write a number that has zero ones?
What number is equal to 300 + 70 + 9?
What is the value of the missing part? How do you know?
What is the value of the digit 6 in 4657
Can you partition the number in more than one way?
Explain why 300 = 200 + 100.
Is 200 + 100 + 50 + 16 equal to 300 + 60 + 6? How do you know?
What number is made of 3 hundreds and 15 tens?

Stem Sentences:

There are hundreds, tens and ones.
The number is
is made up of hundreds, tens and ones.
There are ___ hundreds, _ tensand ___ ones. The numberis .
has hundreds, tens and ones.
= + +

hundreds can be partitioned into hundreds and

YEAR 3
Term 1

Key

Vocabulary:

represent
thousand
base 10
hundreds
times the size
numbers
zeros
columns
placeholder
exchange
value
broken apart
partition
tens
ones
part-whole
3-digit
parts

hundreds.



0 00

10.
11.

12.
13.
14.

Small Steps:

Represent numbers to 100.
Partition numbers to 100.
Number line to 100.

Hundreds.

Represent numbers to 1000.
Partition numbers to 1000.
Flexible partitioning of numbers
to 1000.

Hundreds, tens and ones.

Find 1, 10 or 100 more or less.
+

Number line to 1000.

Estimate on a number line to
1000.

Compare numbers to 1000.
Order numbers to 1000.

Count in 50s.

Jack is thinking of o number. Q

. ﬂ maore than
[ my number is equal to )
What is Jack's number?

Explain your thinking. y

Q0000000000

0000000
00 000

© 000 O g
©O00 000

H

r [TeT]

o0

i

00
00
00

10less Number 10 more
o i
100 ess Number 100 more
©®0% 0% 0 %
L
®o

YEAR 3

Term 1
Key
Key Questions: Vocabulary:

What is the same about representing a number using number
base 10 and using place value counters? What is hundreds
different? tens
How do you know the value of the counter? ones
How do you know which column to place the counter in? place value
How many hundreds, tens and ones is ____ made up of? base 10
How can you use plain counters to represent a number in more
a place value chart? less
How can you show this using base 10? adding
How can you show this using a place value chart? counters
When finding 1/10/100 more/less, which place value charts

columns does this effect?

Which digit/s changes when you find 10 more?
What is the same and what is different about finding
1/10/100 more and 1/10/100 less?

Stem Sentences:
can be made using hundred counters,

ten counters

and one counters.
is made up of ___ hundreds, tens and ones.
more/less than is
is more/less than

When finding more/less than a number, the digit/s changes.



YEAR 3

Term 1
Key
Small Steps: | . | . | . Key Questions: Vocabulary:
1. Repr.e.sent numbers to 100. . oo ' ! ' s0  *  What is the start point? What is the end point? number line
2. Partition .numbers to 100. * How many intervals are there? What is each interval worth? thousand
3. Number line to 100. . . . 4+ 4+ 4 . . 1+, * Whatisthe number line counting up in? How do you know? )
4. Hundreds. o wo . oawe " im0 *  Where would be on the number line? How do you know? start Po.mt
2- Eepresent nurrblbers t°1 2)%%0 *  What number would be halfway along the number line? How end point
. artition numbers to ) do you now? values
7. Flexible partitioning of numbers *  What is the number line counting up in? How do you know? divisions
to 1000. i * Where would be on the number line? How do you intervals
| | | | 1 | | | | | |
8. Hundreds, tens and ones. O S S S B S S Rnow? .
q Flnd 1 10 or 100 more or less i} 100 200 300 400 500 600 700 800 900 1,000 IS N Closer to or ? HO do o kno ? estlmate
. ) : 5 . ? How u W7 .
+ L [ R B | I | « Wh n nl timate? J POSltlon
B I I I T T T I T T I | yca yOU_O HGSlO.e. b
10 Number I,l,ne to 1000 600 610 620 630 o640 650 660 670 680 690 700 ° What number lS haljfway between and ? num ers
1. Egc(’;n(;ate on a number line to i *  How accurate do you think your estimate is? How could you be intervals
1 | | | | - |
> Comnt e o 1000 T e me more accurate? factors
. Order numbers to )
14. Count in 50 Stem S : haljway
. ount tn S. tem dentences:
) ¢ The start point is and the end point is
| I I | | | | | | | I *  There are intervals on the number line.
=00 * Each interval is worth
¢ The number line is counting up in )
. is closer to than , 50 the position of on the number
line is closer to than
Do you agree with Tiny? . is more/less than halfway along the interval, so the position of __ s

Explai ) - closer to
Xp aimn guur answer M



YEAR 3

Term 1
Key
smal"’ StePS: Which number is greater? KeLI QueStionS: v b l °
1. Represent numbers to 100 icl i ? ocablary:
© : e o * How do you know which number is greater: greater
2. Partition .numbers to 100. * Do you start comparing hundreds, tens or ones first? Why? smaller
3. Number line to 100. 11 T oo T *  What strategy did you use to compare the two numbers? Is compare
4. Hundreds. g® © gg go 88 ° this the same as or different from your partners? number line
2 Eepresent nurrblbers t°1 2)%%0 00 Q0 *  Are the base 10 and place value counters show the same place value chart
artition numoers to : number? How do you know? highest
7 Flexible Partitlonlng Oj: numbers Write <, > or = to make the statements correct. * Can you show each number using base 10? lO%VQSt
to 1000. ' *  What is the same about each number? What is different? value
8. Hundreds, tens and ones. ..- ¢ Which number is the greatest? Which number is the smallest? Hundreds
9. Find 1, 10 or 100 more or less. O EE E E EE How do you know? tens
+ . ... *  When comparing two numbers, if the first digits are equal in ones
10. Nurnber line to 1000. _ . value, what do you look at next? order
11. Estimate on a number line to [i0Y0]40)] 1) Q E E E . *  What is different about comparing numbers with the same greatest
0 g:OOO. ) 1000 . number of digits and comparing numbers with different number smallest
. Compare numbers to : of digits? .
13. Order numbers to 1000. g (iG:;ceer:lddl::lg
14. Count in 50s. Stem Sentences: column )
o5t iarge . is greater than because... same
S : -
\egtto\a‘ a 4 tto,gma, . is less than because.. different
m’c\\ fest *  When comparing numbers, I start with the place value column. If they
are the same, I will look at the place value column.
. hundreds is greater than hundreds, so is the greater
number.
J T —— 5 o ¢ The numbers are ordered from smallest to greatest. They are in order.
scending uraer escendihg ur er

¢ The numbers are ordered from greatest to smallest. They are in order.
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Small Steps:
Represent numbers to 100.
Partition numbers to 100.
Number line to 100.
Hundreds.
Represent numbers to 1000.
Partition numbers to 1000.

Flexible partitioning of numbers to 1000.

Hundreds, tens and ones.
Find 1, 10 or 100 more or less. +
Number line to 1000.

. Estimate on a number line to 1000.

Compare numbers to 1000.
Order numbers to 1000.
Count in 50s.

Key Questions:

¢ What is the same about counting in 5s and counting in 50s?

¢ What is different about counting in 5s and counting in 50s?

*  What is the connection between the 5 times-table and the 50 times-
table?

¢ What patters do you notice?

*  When counting in 50s from zero, will you ever say a number with
___ tens? How do you know?

Stem Sentences:

*  When counting in 50s, the number before/after is
* 50 more/less than is :
* If 5 lots of is , then 50 lots of is

Esther has made a number track for counting in 5s.

3 |10 ]| 15|20 | 25 | 30

Ben has made a number track for counting in 50s.

i Complete the number line.

50 | 100 ) 150 | 200 | 250 | 300

I What is the same about their number tracks? What is different?

500 What patterns do you notice?

YEAR 3
Term 1

Key

Vocabulary:

fifty’s
count
50’s
5 times-table
10 times the size
zero
forwards
backwards
multiple
thousand
number lines
number tracks
counting
same
different
connection
patterns
tens
after
before
more
less
lots of
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YEAR 3

Annie has 9 double-sided t K Q H &H‘
nnie nas ouple-siged counters. eu uestlons: v
: J ocabulary:
Small Steps , 000000000 *  Which is the whole and which are the parts? “dd J
Applg numbers bonds within 10. She turns over one counter and sees the number fact8+1=9 What needed to be added to this part to make the
Add and subtract 1s. subtract

o hole? re
Add and subtract 10s, 080000660 wnote 2-digit

* If you take this part from the whole, what will be left?

?
é\dodt :’E:‘ Sl;z:::rft 100s. What other number facts are there for the number 97 . Where would this number g0 1 the parF-Whole odel? numsb_jigbisnds
P P *  What other number facts do you know if you know
Add 1s across a 10. + 20 this? .t0.10
é\::trl(z: (11?2:?02512?6 — m _ * If you multiply both parts by 10 then add them \At;l;t;n11oo
. 0 10 20 30 40 50 60 70 B0 90 100
Subtract 10s across a 100. together, what happens to the whole? place value counters
Make connections. number lines
. Add two numbers (no exchange). part-whole models
. Subtract two numbers (no exchange). bar models
. Add two numbers (across a 10)
. Add two numbers (across a 100)
. Subtract two numbers (across a 10)
. Subtract two numbers (across a 100)
. Add 2-digit and 3-digit numbers.
. Subtract a 2-digit number from a 3-
digit number. - Stem Sentences:
Complements to 100. q * If the whole is and one part is , then the other part is
Estimate answers. 2 10
Inverse operations. . .+ — 10 so + — 100.
Make decisions. 80 * If I know that + = , then I also know..
20 30 60




YEAR 3

Key
Vocabulary:
243+ 5= . -
Small Steps: e — | Key Questions: 2-digi
1. Apply numbers bonds within 10. i i EEEE H Do you have enough ones to make an exchange? 3-digit
2. Add and subtract 1s. What happens to any number when you add a 1-digit number? " tiinsd
3. Add and subtract 10s. S — What happens to any number when you subtract a 1-digit number? unl reas
4. Add and subtract 100s. “”;’3"5 5"5 * Which columns change in a number when you add or subtract a 1- coiumn
5. Spot the pattern. gc O 00 digit number? place value
6. Add 1s across a 10. Will more than one column ever change? (:ircliesd
7. Add 10s across a 100. What is the value of the digit in the number ? adae
8. Subtract 1s across a 10. -3 | Number| +3 How many tens/hundreds are there in ? subtracted
9. Subtract 10s across a 100. 290 293 296 How many tens/hundreds are you adding/subtracting? exchange
10. Mak ti equal
- [VlaRe connections. Will the value in the tens/hundreds column increase or decrease? By €q
11. Add two numbers (no exchange). 294 how much? multiples of 10
12. Subtract two numbers (no 295 *  Which place value columns have changed/stayed the same? multLF;les sf 15)0
exchange). 296 * If you know 7 ones minus 3 ones is equal to 4 ones, then what is 7 UMDEr HOnas
13. Add two numbers (across a 10) tens minus 3 tens? increase
14. Add two numbers (across a 100) What is the inverse of adding/subtracting? decrease
15. Subtract two numbers (across a Hundreds | Tens If you know that 3 + 4 = 7 , what is 300 + 4007 minus
10) ©0 | OO | © | plus
16. Subtract two numbers (across a DD 88 Stem Sentences:
100) . ; }
- - ones plus/minus ones is equal to ones.
17. Add 2-digi an'd ,3_dl9lt numbers. When adding or subtracting 1s to or from a number, the digit in the column
18. Subtract a 2-digit number from a always changes
9 g;dr‘f‘tle’:r‘l‘x::o 100 100 [ 2 If I know 3 + 6 = 9, then I know that 123 + 6 =
20' Esti P ' _ s o There are hundreds, tens and ones.
21' Isttmate answers. H0s! tens/hundreds plus/minus tens/hundreds is equal to tens/hundreds.
22' I\r/ll\;ekresede()g?lsel:)arf;ons. s ? The tens/hundreds column will increase/decrease by




YEAR 3

Key
Vocabulary:
Small Steps: Key Questions: adding
1. Apply numbers bonds within 10. *  What is the value ojjche digit ___in the number subtracting
2. Add and subtract 1s. 444 +3 = 444 -3 = ? Is
3. Add and subtract 10s. * Wil the value in the ones/tens/hundreds column increase or 10s
4. Add and subtract 100s. 444 +30 = 444 -30 = decrease? By how much? 100s
5. Spot the pattern. 444 + 300 = 444 - 300 = *  Which place value columns have changed/stayed the same? 3-digit number
6. Add 1s across a 10. Why? change
7. Add 10s across a 100. * Ifyou know 3 + 4 = 7, what else do you know? same
8. Subtract 1s across a 10. 00 *  What is the inverse of adding/subtracting ? multiples
Q. Subtract 10s across a 100. *  Will you get the same result if the operations are ones
10. Make connections. ;g performed in a different order? tens
11. Add two numbers (no exchange). = hundreds
12 Subtract two numbers (no Use Tiny's fact to complete the number sentences. place value
exchange). 20+50 = 500+200 = column
13. Add two numbers (across a 10) 7- =2 70 - =50 number bonds
14. Add two numbers (across a 100) 70 = +50 =700 - 200 increase
15. Subtract two numbers (across a decrease
10)
16. Subtract two numbers (across a input output
1000 N L3 20 [+ 2001 375
17. Add 2-digit an'd '3-dLth numbers. Stem Sentences:
18. Subtract a 2-digit number from a i * There are hundreds tens and ones
.. II'IFII.It Dutput ) .
3-digit number. . ones/tens/hundreds plus/minus ones/tens/hundreds is equal to
19. Complements to 100. 426 |- ) — 129 - P — 1
ones/tens/hundreds.

20. Estimate answers.

21. Inverse operations.
22. Make decisions.

* The ones/tens/hundreds column will increase/decrease by



YEAR 3

Key
Vocabulary:
Small Steps: Work out the additons. Key Questions: addition
1. Apply numbers bonds within 10. 23741 » 23742 23743 » 23744 23745 *  What is the next multiple of 10/100 after ____? subtraction
2. Add and subtract 1s. * How can you partition ? 1-digit
3. Add and subtract 10s. S ~+ What number do you add to to make 10/100? 2-digit
4. Add and subtract 100s. oes she numberiines o find the jump to the next multiple.—, \w7h ot s the jump from to the next multiple of 10? 3-digit
5. Spot the pattern. m « If is a part/jump, what is the other part/jump____? crossing 10
6. Add 1s across a 10. — e *  Which columns have changed/stayed the same? number bonds
7. Add 10s across a 100. 248 250 o Does the column always/sometimes/never change? ~ multiple of 10
8. Subtract 1s across a 10. *  Which method do you prefer? partition
9. Subtract 10s across a 100. —+—+—+—+—+—+—+—+—+—- «  Which method is more efficient? number line
10. Make connections. 7 = Tom Mo ten
11. Add two numbers (no exchange). | | | hundred
12. Subtract two numbers (no ' o6 ' 248 ° 248 + 2 = 350 .3 +4 multiple of 100
exchange). ‘ 250 + 4 = 254 place value
13. Add two numbers (across a 10) columns
14. Add two numbers (across a 100) @ o ———+——— always
15. Subtract two numbers (across a 260 | 270 230 320 248 230 234 sometimes
10) never
16. Subtract two numbers (across a 268 288 | 298 338 change
100) Stem Sentences:
17. Add 2-digit and 3-digit numbers. ¢ The next multiple of 10 after is
18. Subtract a 2-digit number from a . can be partitioned into and
3-digit number. @ @ @ * Ineed to add to get to the next 10, and then add another
19. Complements to 100. *  The next multiple of 100 after is .
* Ineedto add to cross the next 100 and then add another

20. Estimate answers.
21. Inverse operations. o . @ . @ .

22. Make decisions.



16.

17.
18.

19.
20.
21.
22.

. Add two numbers (no exchange).
. Subtract two numbers (no

. Add two numbers (across a 10)
. Add two numbers (across a 100)

Small Steps:
Apply numbers bonds within 10.
Add and subtract 1s.
Add and subtract 10s.
Add and subtract 100s.
Spot the pattern. —

Use the number line to work out 183 -6

Add 1s across a 10. 75 176 177 178 179 180 18
Add 10s across a 100.

Subtract 1s across a 10.

Subtract 10s across a 100.

. Scott's method
Make connections.

173 174 175 176 177 178 179 180 181 182 183

YEAR 3

Key

Vocabulary:

Key Questions:

subtract
1-digit number
3-digit number
crossing a 10

What is the previous multiple of 10/100 before ?
How can you partition

What is the jump from to the previous multiple of

2.,
Y ©

exchange).

244 — 4 = 240
240 - 3 =237

10/100? Ts
If is a part/jump, what is the other part/jump___? multiple of 10
Which columns have changed/stayed the same? numbers bonds to 10
Which method do you prefer? partition
Which is more efficient? part
o jump
Whitney's method columns
changed
- - stayed the same
before
Tt previous
237 240 244 10s

Subtract two numbers (across a
10)

Subtract two numbers (across a
100)

Add 2-digit and 3-digit numbers.
Subtract a 2-digit number from a
3-digit number.

Complements to 100.

Estimate answers.

Inverse operations.

Make decisions.

What mistake has Tiny made?

gm@ :

I need to subtract

crossing a 100
counting back

Stem Sentences: multiple of 100

The previous multiple of 10 before is
can be partitioned into and .
I need to subtract to get to the previous multiple of 10, then
subtract more.
The multiple of 100 before is
can be partitioned into and .
to get to the previous multiple of 100, then subtract

more.



13.
14.
15.

16.

17.
18.

19.
20.
21.
22.

Small Steps:

Apply numbers bonds within 10. .
Add and subtract 1s. .
Add and subtract 10s.
Add and subtract 100s.
Spot the pattern.

Add 1s across a 10.

Use base 10 to help you complete the sentences.

i = 1 hundred E=1ten ® =1one
]

10 ones = ten 10tens = hundred °
Add 10s across a 100. .
Subtract 1 S across a 1 O 20 ones = tens 40 tens = hundreds .
Subtract 10s across a 100. 30 ones = tens tens = & hundreds

Make connections.

. Add two numbers (no exchange).
. Subtract two numbers (no

exchange).

Add two numbers (across a 10)
Add two numbers (across a 100)
Subtract two numbers (across a
10)

Subtract two numbers (across a
100)

Add 2-digit and 3-digit numbers.
Subtract a 2-digit number from a
3-digit number.

Complements to 100.

Estimate answers.

Inverse operations.

Make decisions.

Iknowthat 13 -6 =7,
so I also know that 23 -6=17
and 33 -6=27

<

I know that 50
is 10 away from 100, so
240+ 90 = 240 + 100 - 10

YEAR 3

Key
Vocabulary:

Key Questions: adding

What is the multiple of 10/100 after ? subtracting

What is the multiple of 10/100 before ? 1s

What is the jump from to the next/previous 10s

multiple? 100s

If is a part/jump, what is the other part/jump? to/from

Which columns have changed/stayed the same?
Which method do you prefer?
Which is more efficient?

Use the number cards to complete the bar models.

7 /8|15 70| |80| | 150
Stem Sentences:
ones + ones = ones, SO
ones = ones.
ones + ones = ones, SO
tens = tens.

3-digit numbers
cross a 10 or a 100
connections
calculations
ones
equal
tens
Hundreds
multiple
next
previous
part
jump
columns
changed
stayed
same

ones -

tens +



13.
14.
15.

16.

17.
18.

19.
20.
21.
22.

Small Steps:

Apply numbers bonds within 10.
Add and subtract 1s.

Add and subtract 10s.

Add and subtract 100s.

Spot the pattern.

Add 1s across a 10.

Add 10s across a 100.

Subtract 1s across a 10.
Subtract 10s across a 100.
Make connections.

. Add two numbers (no exchange).
. Subtract two numbers (no

exchange).

Add two numbers (across a 10)
Add two numbers (across a 100)
Subtract two numbers (across a
10)

Subtract two numbers (across a
100)

Add 2-digit and 3-digit numbers.
Subtract a 2-digit number from a
3-digit number.

Complements to 100.

Estimate answers.

Inverse operations.

Make decisions.

Find the sum of 345 and 432

Hundreds

Tens [ 0es |

©00

0000

; [oo00[000

Work out 769 - 147

Hundreds |  Tens

0000 000
000

000 |0000
0

Fill in the missing numbers.

I

el = =
oo
-~ O

524

145

Waork out the missing numbers.

876

324

YEAR 3

Key
Vocabulary:
Key Questions: addition
Do you have enough ones/tens to exchange for a subtraction
ten/hundred? written
Do you need to make an exchange? 2-digit
How can you represent the question using base 10? 3-digit

How can you partition these numbers into a place value formal written method

chart? place value chart
Does it matter which columns you add together first? add
What do you put in the tens column if there are no tens? subtract
Do you need to make both numbers before you subtract? base 10
Does it matter which column you subtract from first? exchange
Do you have enough ones/tens to subtract ones/tens? ones
Does it matter which number you write at the top when tens
using the column method for subtraction? hundreds
partition
2(|3| + |4||5 = |6||7]|9 columns
equal to
plus
Stem Sentences: minus
ones plus ones is equal to ones.
tens plus tens is equal to tens.
hundreds plus hundreds is equal to hundreds.
hundreds, tens and ones is equal to
ones/tens/hundreds minus ones/tens/hundreds is equal to ____
ones/tens/hundreds.
Now there are hundreds, tens and ones. The answer is



YEAR 3

Key
Vocabulary:
Small Ste_pSZ »  Dexter uses base 10 to work out 208 + 313 Keu Questions: G.d.d. -
1. Apply numbers bonds within 10. [ Hundreds | Tens «  Does it matter which column’s numbers you add together ~ addition
2. Add and subtract 1s. .. - first? adding
3. Add and subtract 10s. L ;: Do you have enough ones/tens to make an exchange? 2-digit
4. Add and subtract 100s. BEERE *  Where do you put the ten/hundred that you made from 3-digit
5. Spot the pattern. _|_.. E ENEEAEAEY exchanging 10 ones/10 tens in your model? exchanges
6. Add 1s across a 10. . ' o * How can you show that you have exchanged 10 ones/10 ones
7. Add 10s across a 100. 5 2 1 tens in your written calculation? tens
8. Subtract 1s across a 10. — hundreds
q Subtract 10s across a 100. Ron uses place value counters to work out 367 + 164 base 10
10. Make connections Nijah uses bose T0 to work our 466+ 353 lace value counters/chart
| | Hundreds | Tens _|INORGS ] i
11. Add two numbers (no exchange). I column
12. Subtract two numbers (no o0o0 g{:} 000 I;Zg value
exchange). ':Eg S OOH@'OGO 16 4 written method
13. Add two numbers (across a 10) + 353 /) ] 513 1 calculation
14. Add two numbers (across a 100) s 5 3 3 N
15. Subtract two numbers (across a
10)
16. Subtract two numbers (across a Stem Sentences:
100) ones + ones = ones.
17. Add 2-digit and 3-digit numbers. HToO| mitlol If I have ones, I can exchange them for ten and ones.
18. Subtract a 2-digit number from a 2[5 Al 13 I have hundreds, tens and ones, so altogether I have :
3-digit number. 1] | + 10 15 tens + tens = tens.
19. Complements to 100. 370 6] |8 If I have tens, I can exchange them for hundred and tens.
20. Estimate answers. I have hundreds, tens and ones, so altogether [ have .
21. Inverse operations.
22. Make decisions.




YEAR 3

Key
Vocabulary:
Small Steps: Annie uses base 10 to work out 72 - 45 Keu Questions: written method

1. Apply numbers bonds within 10. [ Tens [ Ones | i *  How can you show this questions using base 10? subtraction
2. Add and subtract 1s. sy To * Can you subtract 2 ones/tens from 5 ones/tens? subtract
3. Add and subtract 10s. % % T’: - Can you subtract 5 ones/tens from 2 ones/tens? minus
4. Add and subtract 100s. %}/ o 52 * Do you need to make an exchange? exchanges
5. Spot the pattern. i ; T 1] * How can you show an exchange using base 10 or place 2-digit
6. Add 1s across a 10. value counters? 3-digit
/. Add 10s across a 100. * How can you show an exchange using the written method? tens
8. Subtract 1s across a 10. Horareae] Ters ones
9. Subtract 10s across a 100. e R HTlo | "'"5 (:T;g s hundreds
10. Make connections. . e BEREEIEN 3.\ o =gl base 10
11. Add two numbers (no exchange). m % M EEE i -[1]7 8 calculation
12. Subtract two numbers (no p{ e o2 SLIL across a 100

exchange). — 2D place value counters
13. Add two numbers (across a 10) @% multiples
14. Add two numbers (across a 100) - i m T 1 8
15. Subtract two numbers (across a | HTO | 'leﬁ | HToO

10) 476 7 4 418 Stem Sentences:
16. Subtract two numbers (across a - %%];l | - % - i;l e ___ onessubtract ____onesis equalto ____ones.

100) T 111 ' — |+ Twillexchange 1 ten for ____ ones.
17. Add 2-digit and 3-digit numbers. - | | ~» Nowlhave___ hundreds, __ tensand ____ ones.
18. Subtract a 2-digit number from n e The answeris

3-digit number. @ @ @ * ___ tenssubtract ____ tensisequalto .
19. Complements to 100. « I will exchange 1 hundred to make ____tens.
20. Estimate answers. @ . . @ @ .  Now thereare _ hundreds,  tensand ____ ones.
21. Inverse operations. e The answeris .

22. Make decisions.
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Key
Vocabulary:
Small Steps:' | — o Keg Questions: formal written method
; szlg n;mbbers bor11ds within 10 . HToO How can you show this question using base 10/place value addition
. and subtract 1s. | |1{516] counters? add
+ 63 :
3. Add and subtract 10s. — - [ T[] How can you write this calculation using the formal written plus
4. Add and subtract 100s. + e . method? subtraction
2' /S\F:Eit 1the pattern.m e Have you put all the digits in the correct columns? subtract
: § across a 1U. Do you need to make an exchange? minus
/. Add 10s across a 100. Teddu uses base 10 to work out 452 - 43 What could you write in the hundreds column if there are 2-digit
8. Subtract 1s across a 10 ’ hundred g 3-digit
) . Mondreds no hundreds? )
?O i/lubI:mCt 10s across a 100. - BREUGE If you cannot exchange from the tens, what should you exchange/s
. Make connections. .. BEDEER do? ones
11. Add two numbers (no exchange). 4]3 tens
12. Subtract two numbers (no .. 108 Eva uses base 10 to work out 203 - 36 hundreds
exchange). digits
13. Add two numbers (across a 10) et the bar models. H T o place value columns
14. Add two numbers (across a 100) Jja.vi% 3] zero
15. Subtract two numbers (across a 3.6 placeholder
10) 532 81 246 = 1 67 absence
16. Subtract two numbers (across a two-part exchange
100) 301 O 327 - 28 equal to
17. Add 2-digit and 3-digit numbers.

Stem Sentences:

522-131 O 522-31
375-93 O 324-51 .
243 -58 O 253 -68

18. Subtract a 2-digit number from a
3-digit number.

19. Complements to 100.

20. Estimate answers.

21. Inverse operations.
22. Make decisions.

__ hundreds added to ____ hundreds is equal to _____ hundreds.
Iput __ inthe ___ column because..

___ hundreds subtract hundreds is equal to ____.

I will exchange 1 hundred for ____ tens, then 1 tens for ____ ones.
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Key
Vocabulary:
Small Steps: Fill in the totals for the hundred square. Key Questions: complements to 100
1. Apply numbers bonds within 10. ] * How many squares are there altogether? How do you numbers bonds
2. Add and subtract 1s. H Rnow? ones
3. Add and subtract 10s. -*_ *  How many full rows of each colour are there? tens
4. Add and subtract 100s. ) *  What do you notice about the row with both colours in it? hundreds
5. Spot the pattern. i *  What do you notice about the total of the tens? number line
6. Add 1s across a 10. *  What do you notice about the total of the ones? altogether
7. Add 10s across a 100. *  What is the jump to the next multiple of 10? multiples
8. Subtract 1s across a 10. J *  What is the jump to 100?
9. Subtract 10s across a 100.
10. Make connections. ) Sort the additions into the table.
11. Add two numbers (no exchange). e A0
12. Subtract two numbers (no ! 40/ 0 2 s i B
exchange). \lf' /
13. Add two numbers (across a 10) 90 oot e ey e
14. Add two numbers (across a 100)
15. Subtract two numbers (across a Bond to 100 Mot a bond to 100
10) +9 +30 61+ 39 =100
16. Subtract two numbers (across a m
100) | | |
17. Add 2-digit and 3-digit numbers. 61 70 100
18. Subtract a 2-digit number from a
3-digit number. Stem Sentences:
19. Complements to 100. Complete the complements to 100 * Tadd ____ to get to the next 10, then to get to 100.
20. Estimate answers. e This means ____is the complement to 100 of ____.
21. Inverse operations. 84+1__ 35+_5 _7+53 26 + e __ plus___ isequalto 100.

22. Make decisions.



13.
14.
15.

16.

17.
18.

19.
20.
21.
22.

Small Steps:

Apply numbers bonds within 10.
Add and subtract 1s.

Add and subtract 10s.

Add and subtract 100s.

Spot the pattern.

Add 1s across a 10.

Add 10s across a 100.

Subtract 1s across a 10.
Subtract 10s across a 100.
Make connections.

. Add two numbers (no exchange).
. Subtract two numbers (no

exchange).

Add two numbers (across a 10)
Add two numbers (across a 100)
Subtract two numbers (across a
10)

Subtract two numbers (across a
100)

Add 2-digit and 3-digit numbers.
Subtract a 2-digit number from a
3-digit number.

Complements to 100.

Estimate answers.

Inverse operations.

Make decisions.

Use the number lines to help you complete the sentences.

| | | | | 1 | | | | |
I T [ 1 1 I I [ I T 1

60 62 70
62 is closer to than
| ] |
I I 1
800 840 900
840 is closer to than
l | |
I I 1
478
478 is closer to than

Tiny is estimating the answer
to 382 -114

Work out the calculations.

YEAR 3

Key Questions:
*  What are the multiples of 10/100 before and after

?
e Where would be on this number line?
¢ Which multiple is closer to?

* How far from is ?

¢ Which calculation is easier/quicker to perform?

*  Which calculations can you do mentally?

*  Why do we use estimates?

* Is the estimate less than or greater than the actual
answer?

+ Why?

Write < or > to complete the statements.

300 - 100 Q

80 + 30 78+33 44040 44+?ZO4D+?D
_o—""‘l
700 - 500 670 — 480 1320130 41](]—1320400—131]
200 + 100 240+ 120 2374118 '“OMU 4““_'3304””"4“
Stem Sentences:
Find a better estimate. . is near to .

Key

Vocabulary:

rounding
estimating
position
numbers
number line
answer
near to
calculated
greater
less than
multiples
before
after
closer
mentally

The estimated answer will be less/greater than the actual answer because...




13.
14.
15.

16.

17.
18.

19.
20.
21.
22.

Small Steps:

Apply numbers bonds within 10.
Add and subtract 1s.

Add and subtract 10s.

Add and subtract 100s.

Spot the pattern.

Add 1s across a 10.

Add 10s across a 100.

Subtract 1s across a 10.
Subtract 10s across a 100.
Make connections.

. Add two numbers (no exchange).
. Subtract two numbers (no

exchange).

Add two numbers (across a 10)
Add two numbers (across a 100)
Subtract two numbers (across a
10)

Subtract two numbers (across a
100)

Add 2-digit and 3-digit numbers.
Subtract a 2-digit number from a
3-digit number.

Complements to 100.

Estimate answers.

Inverse operations.

Make decisions.

What mistake has Dexter made?

YEAR 3

Key
Vocabulary:
Key Questions: inverse
*  What do you notice about the part-whole models? addition
*  What are the two parts? What is the whole? subtraction
. ° *  What does ‘inverse’ mean? part-whole model
¢ What is the inverse of add/subtract ? bar model
13-5= 13-8= *  What does commutative mean? relationships
« Is addition/subtraction commutative? commutative
*  What estimate could you use to check? estimation
Tiny uses a number line to work out 61 - 23 operatlons
-2 - 20 -1
m Complete the bar model for 561 - 236 = 325
[ T T 1
28 30 50 61
Aisha works out 83 — 47 and
gets the answer 36
Find the whole.
That is incorrect.
I did the inverse to check
83 + 36 = 119 74 217
@®
Stem Sentences:
| Dexter | - If is a part and is a part, then is the whole.
e If is the whole and is a part, then is the other part.



13.
14.
15.

16.

17.
18.

19.
20.
21.
22.

Small Steps:

Apply numbers bonds within 10.
Add and subtract 1s.

Add and subtract 10s.

Add and subtract 100s.

Spot the pattern.

Add 1s across a 10.

Add 10s across a 100.

Subtract 1s across a 10.
Subtract 10s across a 100.
Make connections.

. Add two numbers (no exchange).
. Subtract two numbers (no

exchange).

Add two numbers (across a 10)
Add two numbers (across a 100)
Subtract two numbers (across a
10)

Subtract two numbers (across a
100)

Add 2-digit and 3-digit numbers.
Subtract a 2-digit number from a
3-digit number.

Complements to 100.

Estimate answers.

Inverse operations.

Make decisions.

Match the bar models to the problems.

| 48

Esther has 24 stickers,
Filip has 13 stickers.
Tom has 48 stickers,

How many stickers do they
have altogether?

Esther has 24 stickers.
Filip has 13 stickers.
Tom has 48 stickers.

How many more stickers
does Tom have than Esther
and Filip combined?

Esther has 24 stickers,

Filip has 13 stickers.

Tom has 48 stickers,

Find the difference between

Filip and Tom's numbers of
stickers.

i

Use the cards to create additions and subtractions that

give an answer between 200 and 300

YEAR 3

Key
Vocabulary:
Key Questions: decisions
* Do you know the whole? operation
*  What parts do you know? method
*  Which operation do you need to use? solve
¢ Can you use a mental method or do you need to use problem

word problems
multi-step problems

a written one?
*  Which method is more efficient?

*  What does this arrow represent on the bar model? bar model
Where is the whole/total on the bar model? whole
*  What is the first step you need to do? parts
* Do you have to complete the calculations in a specific total
order? mental
written
efficient
Kim and Teddy are working out 436 - 199
represent
Kim's workings .
s wor . calculations
H|T{o| | I'm going to
|43 6] | . subtract 200 in my
-1 9 g head and then add
| 1 back on.
T | | [ Teddy |

Use both methods to work out the answer.

Stem Sentences:
. is a part and is a part, so I need to :
. is the whole and is a part, so I need to
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Small Steps:
Multiplication — equal groups.
Use arrays.

Multiples of 2.
Multiples of 5 and 10.
Sharing and grouping.
Multiply by 3.

Divide by 3.

The 3 times-table.
Multiply by 4.

Divide by 4.

. The 4 times-table.

Multiply by 8.
Divide by 8.

. The 8 times-table.

The 2, 4 and 8 times-tables.

2=10 10+ 10+ 10 !!

Tx2 5+5+5

3=10 T+7 g%

5x3 10410

There are

There are

Complete the sentences to describe the groups.

equal groups with

altogether,

in each group.

388

83 )

o9

-

Ci

Complete the sentences,

00000
00000
00000

There are rows of apples.

There are lots of apples.
u =

There are columns of

There are lots of apples.

apples.

YEAR 3

. Key
K‘_"—‘ Questions: Vocabulary:
How can you tell if groups are equal? caual
What does the 2 represent? What does the 8 r?)u S
represent? re eatged cfdd'ttion
How can you show the groups? Fr)nult'l lication
What is the same and what is different about the " pbl
groups? imes-table facts
How many ways can you show this? rezgerzrs;znt
Do these two groups look the same? Why or why not? different
How many lots of 2 do you have? APTaUS
How many lots of 5 do you have? Commutitivlt
What does this array show? Y
J . . . lots of
What number sentences can you write to describe this
array? groups of
How does this array show repeated addition and
multiplication?
What happens if you change the order of the numbers
in a multiplication?
Stem Sentences:
There are ____ equal groups with _____in each group. There are ____
altogether.
The groups are equal because..
Thereare ___ lotsof __ .
X = X
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10.
11.
12.
13.
14.
15.

Small Steps:

Multiplication — equal groups.

Use arrays.

Multiples of 2.
Multiples of 5 and 10.
Sharing and grouping.
Multiply by 3.

Divide by 3.

The 3 times-table.
Multiply by 4.

Divide by 4.

The 4 times-table.
Multiply by 8.

Divide by 8.

The 8 times-table.

The 2, 4 and 8 times-tables.

Colour the multiples of 2 in the grid.

16

18 22 26

32

28 22

25

55 45

110 20 70

11213 (4)5(6[7]8

10

M3 141516 17|18

19

20

A2 3242526 (27|28

29

30

33233 (3435|3637 38

39

41| 42| 43| a4 | 45 | 46 | 47 | 48

49

Sort the numbers into the diagram.
15 90 27 95
7000 740 57 605

The first three hove been done for you.

105 40
406 50

multiples of 5

27

multiples of 10

YEAR 3

Key Questions:
What is the next multiple of 27?
What is the multiple of 2 before __ ?
How do you know that all multiples of 2 are even?
What do you notice when you add two even numbers
together? Is this always true?
What do you notice when you add two odd numbers
together? Is this always true?
What is the next multiple of 5/107?
What is the multiple of 5/10 before ?
What do you notice about the multiples of 5 and 10?
When is a multiple of 5 also a multiple of 10?
Is ___ amultiple of 5/10? How can you tell?
Are all multiples of 10 even? How do you know?

#« Complete the number line.

I I I T I I | I T T 1
22 26 32 36 42

Stem Sentences:
The next multiple of 21is ____.
The previous multiple of 21is ____.
[ know __ is even because..
The next multiple of 5/10is ____.
The previous multiple of 5/10is ___.
I know is a multiple of 5/10 because..

Key

Vocabulary:

2s
2 times-table
multiples
divided
equal
groups
even
odd
whole number
ones
tens
hundreds
digits
next
after
before
previous
5s
10s




YEAR 3

. o Ke
Small Ste_ps° Here are 14 counters. Keu Questlons: 2ey

1. Multiplication — equal groups. e g . @ «  How can you share into equal groups? Vocabularg:
2. Use arrays. ] @ ¢ ¢ @ ¢ * How can you put the number of into equal groups division
3. Multiples of 2. & ¢ @ @ of ? sharing
4. Multiples of 5 and 10. Share the counters equally into 2 groups. *  What is the difference between sharing and grouping? grouping
5. Sharing and grouping. Complete the sentences * Is the question asking you to share or group? equally
6. Multiply by 3. «  How do you know? groups
/. Divide by 3. There are counters altogether. «  What does the answer mean? bar model
8. The 3 times-table. There are groups. 2s
9 Multlply by 4. There are counters in each group. ) 5s
10. Divide by 4 » Evo puts 30 apples into bogs. 10s
11. The 4 times-table. 4= B Each bag has 5 apples in it. times-tables
12. Multiply by 8. How many bags are there? difference

i - Draw a bar model to show this problem.
13. Divide by 8. Are the statements about g)
14. The 8 times-table. sharing or grouping?
15. The 2, 4 and 8 times-tables. + Ms Rose has 60 balloons.

Teddy puts pencils into pots. She shares them equally between 10 classrooms.
HE;EZE;I:?:"TLSC‘:‘”;;“S How many balloons are in each classroom?
Match the statements to the bar models. ' Draw a bar model to represent this problem.
20
20 pencils are shared ’ . Filip hos 15 books.
equally between 5 people. He gives each of his friends
| - | - | . | - | 4 an equal number of books. Stem SentenceS:
= . has been shared equally into equal groups.
20 p_fnr:us e gfmsuped . : ) Annie has 12 sweets. *  There are groups of in )
o [s[s]s]s] She puts mem“:hmiﬂ”ﬁymgsg *  This question is sharing/grouping because...




Small Steps:
Multiplication — equal groups.
Use arrays.

Multiples of 2.
Multiples of 5 and 10.
Sharing and grouping.
Multiply by 3.

Divide by 3.

The 3 times-table.

9. Multiply by 4.

10. Divide by 4.

11. The 4 times-table.

12. Multiply by 8.

13. Divide by 8.

14. The 8 times-table.

15. The 2, 4 and 8 times-tables.

XNk WN =

Arrange the counters in groups of 3 and complete the division.

eeeeee
000000 -
eseoee

# There are 5 towers,

Each tower has 3 cubes.

Complete the sentences,

There are equal groups with in each group.
There are altogether.
+ + * * =

»  Whitney and Tommuy are working out &= 3

I can find the answer
by counting in 3s
—
—"-..‘_‘_\_\_\__ -
[ Whitney | - —— @
I know that 5 x 3 = 15, so
I can count on 3 more. r "
| Tommy |

Whose method is more efficient?

Write <, > or = to complete the statements.

Gu3 2n3

1 Gx3 S5=3+1=x3

OO0

Ex34+2x3 T=3+1=3

YEAR 3

Key
Vocabulary:
Key Questions: 3
How many equal groups are there? repeated addition
How many are in each group? multiplication
How could you show this multiplication using a bar model? multiples
How could you use counters to explore the problem? equal
How many lots/groups of 3 do you have? groups
How many will go into each group? multiplying
How many groups of 3 can you make? counting
How can you show me sharing? partitioning
How can you show me grouping? bar model
Is the question sharing or grouping? How do you know? lots of
How can you show this using an array? groups of
What would one more lot be? dividing
What would double the number of lots be? division
If you know this, what else do you know? sharing
How could you partition the array to show different groups of  grouping
37 inverse
Stem Sentences: operations

There are _____ groups.

There are _____in each group.

There are ____ altogether.

_x3=__x3+__x3

__ has been shared equally into _____ equal groups.
There are ____ groups of in

There are ____lots of 3.

lots of 3 is equal to :

If I know x 3 is , then I can find x 3 by..

times-table
fact families
doubling
halving
commutativity
inverse
operation
2-digits
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10.
11.
12.
13.
14.
15.

Small Steps:

Multiplication — equal groups.

Use arrays.

Multiples of 2.
Multiples of 5 and 10.
Sharing and grouping.
Multiply by 3.

Divide by 3.

The 3 times-table.

Match the multiplications to the pictures.

2 ee o en a0 ee
BHIH BT
HHIHHIHH
ﬂ#l asen 88

3

Multiply by 4. '
Divide by 4.

The 4 times-table.

Multiply by 8.

Divide by 8.

The 8 times-table.

The 2, 4 and 8 times-tables.

+ Here are 20 buttons.

@@g@;@@@
0209 0 9
0 © ©

Share the buttans into 4 equal groups and complete
the sentence,

20 shared into

equal groups is
Circle groups of 4 buttons and complete the sentence.

There are

groups of 4 in 20

10 11 12 13 14 15 16 17 18 19 20

[N -
[TV .
o
[T .
o ——
o ——
o =
(1o -

Write <, > or = to compare the statements,

6x4 O 40+ 4
B=4 O x4
Gx4 O 4=9

+  What multiplications and divisions does the array show?

Complete the number sentences.

(111 ¥
(111

X =
eeee : =
eee e + -

YEAR 3

Key

Vocabulary:

Key Questions: 2s
How many equal groups are there? times-table
How many are in each group? multiply
How can you write a number sentence to show this? 4s

How many lots of 4 do you have? arrays
How can you show why multiplying by 4 is the same a multiplying  multiplying
by 2 and then by 2 again? doubling
How can you share ____into 4 equal groups? 5’s
How can you put ____into equal groups of 4? lots of
What is the difference between sharing and grouping? minus
Is this question asking you to share the ____ or group them? How  equal groups
do you know? counting
How can you show that dividing by 4 is the same as dividing by 2 commutativity
and then by 2 again? groups
What does your answer represent? number sentence
What can you partition ____into to help you multiply ____ by 4? sharing
What strategy can you use when multiplying by 4? grouping
What strategy can you use when dividing by 4? dividing
halving
Stem Sentences: partitioning
There are _____ equal groups with ____in each group. subtracting
There are _____ altogether.
Double is and double is , 50 4 lots of is
__ has been shared into _____ equal groups.
There are _____ groups of in

x4 = x4 + x4
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Key
Vocabulary:
Small Ste_p51 » Complete the sentences to describe each picture. Keu Q uestions: 4s -
1. Multiplication — equal groups.  7here are bags of pears. *  How many equal groups-are there? times-table
2. Use arrays. There are nears in each bag. * How many are in each group? multiply
3. Multiples of 2. ore ore ears intotal *  How can you write a number sentence to show this? 8s
4. Multiples of 5 and 10. : * How many lots of 8 do you have? equal groups
5. Sharing and grouping. @ @ @ @ @ @ * How many groups of 8 are therein ____? counting
?. I\D/Iul;cilplkyJ bg 3. *  What is the relationship between multiplying by 4 and multiplying multiplying
. Divide by 3. 2R 2008 by 87 double
8. The 3 times-table. . Hyow can you share ____into 8 equal groups? equivalent
9. Multiply by 4. - . * How can you put ____into equal groups of 8? same
10. Divide by 4. ; R : *  What is the difference between sharing and grouping? multiple
11. The 4 times-table. * Is this question asking you to share the ____ or group them? How lots of
12. Multiply by 8. input output do you know? subtracting
13. Divide by 8. ; 0 B * How can you show that dividing by 8 is the same as dividing by 2 commutativity
14. The 8 times—tabl?. ot o three times? multiplication
15. The 2, 4 and 8 times-tables. 6 N x8 [— *  What can you partition ____into to help you multiply ___ by 8? equal to
e *  What strategy can you use when multiplying/dividing by 8? division
p : . sharing
o el ol ol ol ol ol Stem Sentences: grouping
* Thereare ____ equal groups with ____in each group. dlvid.ing
§ 1 2 e * Thereare ____ altogether. h“}l‘_””?_l
: s ¢ __ xh=__ then_  x8= partitioning
- 28 28 b — has been shared into _____ equal groups. greater than
. 1 1 14 14 . : There age ____ groups of in
11 2 I A U A I B A I B B . :§8=:x8+_x8
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Key
Vocabulary:
Smau‘ Steps: o Complete the multiplications. Keg QueStlonS: multlplglng
1. Multiplication — equal groups. * How does knowing x 2 help you work out X 2s
2. Use arrays. 3x2= i i 4 and x 8? 4s
3. Multiples of 2. *  What is the relationship between multiplying by 4 and 8s
4. Multiples of 5 and 10. Ixd= i i i i multiplying by 8? connections
5. Sharing and grouping. e i i i i i i * How can you show that multiplying by 4 is the same a patterns
6. Multiply by 3. i i multiplying by 2 and then by 2 again? times-table
/. Divide by 3. * How can you show that dividing by 4 is the same as doubling
8. The 3 times-table. dividing by 2 and then by 2 again? dividing
9. Multiply by 4.  Comblets the tabl _ _ _ halving
10 DlVlde by 4 cmplete the table. Tiny hos been looking at the 2,4und_ﬂirrf5-tubles. calculate
11. The 4 times-table. * 2 4 - ~ Doubling the relationship
12. Multiply by 8. 3 6 @8 [ 4 timestaie and coubiing me same
13. Divide by 8. 10 20 g/ < ”mas;sf?r:]rfe;stzg?eﬂlmm
14. The 8 times-table. e T~
15. The 2, 4 and 8 times-tables. 72 Use Tiny's method to complete the calculations.
Tx2= gx32= 12x2=
Tx4= 9x 4= 12x4=
Match the equivalent calculations. TuR= gwf= 12x8=
Is the statement true or false? Gx8 G4+2+2+2
Multiples of & are dlso 6x4 6%x4x2 Stem Sentences:
multiples of 4 and 2 64+ 8 half 64, then half it again : — i g : — z g i g 2
64+ 4 6x2x2 . X8 = x2x4




Small Steps:

Complete the number track.

40

60

90

100

00

©©)

10 tens are equal to

Use the ten frame to complete the sentence.

es to complete the calculation.

®)®)

O

0O

©

O

@ @)

O

()

ones

dx? =

1. Multiples of 10.
2. Related calculations. 10 | 20
3. Reasoning about
multiplication.
4. Multiply a 2-digit number by
a 1-digit number — no QOD
exchange. QOD
5. Multiply a 2-digit number by
a 1-digit number — with Use the ten from
exchange. OOO
6. Link multiplication and QOD
division.
/. Divide a 2-digit number by a 1710= 1010+ 7x10=
1 digit number — no
exchange. Complete the number sentences to match the pictures.
8. Divide a 2-digit number by a
1-digit number — flexible @ @ @ @
partitioning.
9. Divide a 2-digit number by a 42 ones =
1 digit number — with -
remainders.
S ROROR()
11. How many ways?

4= 2 tens =

tens

4x20=

YEAR 3

Key Questions:
What is the multiple of 10 before ___ ?
What is the multiple of 10 after ___ ?
Is __ a multiple of 10? How can you tell?
How many tens are there in?
How can you use a Gattegno chart/place value chart to
help multiply or divide a number by 10?
What is the same about all multiples of 10?
What is different?
What is the same and what is different about the two
calculations?
How can you represent the calculation using place
value counters/base10?
How is multiplying by 10’s different from multiplying by
1’s?
What is the connection between the two calculations?

Stem Sentences:
[ know ___is a multiple of 10 because..
_ multiplied by 10 is equal to ____.
_is 10 times the size of ___.

Thereare  tensin .
____x____onesisequalto____ ones,so____ x
___ tensisequalto____ tens.

____+__ isequalto , SO tens +is equal to

tens.

Key

Vocabulary:

10s
times table
multiples
greater
place value
ten frame
Gattegno chart
zero
multiplication
division
2-digit
before
after
tens
multiply
divide
same
different
equal
times the size
scaling
base 10

commutative




Small Steps:

1. Multiples of 10.

2. Related calculations.

3. Reasoning about
multiplication.

4. Multiply a 2-digit number by
a 1-digit number — no
exchange.

5. Multiply a 2-digit number by
a 1-digit number — with
exchange.

6. Link multiplication and
division.

/. Divide a 2-digit number by a
1 digit number — no
exchange.

8. Divide a 2-digit number by a
1-digit number — flexible
partitioning.

9. Divide a 2-digit number by a
1 digit number — with
remainders.

10. Scaling.

11. How many ways?

Complete the number sentences to match the pictures.

GO
BEEEG -

Write > or < to complete the statement.

EXBOGNE

Complete the number sentences and write <, > or = to compare
the arrays.

- W

o 3

C L]

How do the bar models show thot 36 + 6 < 36 + 47
36
| [ T |
36
[ [ ]

Draw bar models to compare the pairs of calculations.

O O
O O

12+ 6 12+4 15+5 15=3

27+3 24+3 20+5 20+4

YEAR 3

Key Questions:

What number sentences are shown by the array?
What is the same and what is different about 8 x 3
and 8 x 4?

Which digit represents the size of the group?

Which digit refers to the number of groups?

What happens if you increase/decrease the number of
groups?

What happens if you increase/decrease the size of the
groups?

Do you need to complete the calculation to compare
them?

Write <, > or = to compare the multiplications.

ExBO?xd ExEO.ﬁxq
EDKBO?DHl EMEEOEHMJ

Stem Sentences:
* __ lotsof ___ isgreaterthan ___ lotsof .
e _ lotsof __ islessthan ____ lotsof
* Tknow that ____is greater because....

Key

Vocabulary:

mult'tplication-
base 10
arrays
number sentence
symbols
greater than
less than
equal to
division
same
different
digit
groups
increase
decrease
compare




YEAR 3

Small Ste_pS: Complete the number sentences. Keu QuestionS' V. K_beui
' 7 - ocabulary:
;' E/lelt:tlsclleicﬁ{ legt-ions Use the place value chart to help You. *  How can you partition a 2-digit number into tens and multiplying J
3 Reas.on.mg .about *  What is the product of the tens and the single digit? 2 d.lg.lt
mUltlp lication. o 2onesx 2= ones What is th d h d the sinale digit? 1-d.|.glt
4. Multiply a 2-digit number by —— " at is the product of the ones and the single digit calculation
' a 1-digit number — no Ty + = *  What do you need to do to find the final answer? exchange
) _ TTIITD . i ?
exchange. e—— - xa= What do you do if you have ten or more ones: partitioning
5. Multiply a 2-digit number by ST _ expanded
a 1-digit number — with Complete the workings. method

eXChange' Ron has used a part-whole model to multiply 23 by 3 643 24%8 tens

6. Link multiplication and =__tens=3+__ ones=3 =20x8+4x8 ones
division. @ - . - . product
7. Divide a 2-digit number by a 20 x 3 =60 - - base 10
1 digit number — no Ix3=9 = = place value
exchange. el als part-whole
8. Divide a 2-digit number by a number sentence
1-digit number — flexible Stem Sentences: single digit
partitioning. e __ tensand ___ ones multiplied by ___is equal to equal to
9. Divide a 2-digit number by a Use the place value chart ond counters to work out 45 x 3 __ tens multiplied by and ones multiplied
1 digit number — with AtarsX 3= tans by -
remainders. .E- * __ tens multipliedby __ isequalto____ ones
10. Scaling. Q000 |00000| >onesx3= ones multiplied by ___ is equalto ___ multiplied by ___
11. How many ways? Q000 |00000 + = ____isequalto ____.
0000 [00000) , . © o x = rensx 4+ x

® ones is tens and ones.



YEAR 3

Small StepS: What multiplication and division focts does the array show? K . . &u
, ' ey Questions: Vocabularu:
1. Multiples of 10. . - . ocabulary:
. 0000 *  What is the same and what is different about the two T
2. Related calculations. 0000 calculations? multiplication
3. Reasoning about ) _ , division
. * How can you show the calculation using place value
multiplication. x = tens
. - counters/base 107? .
4. Multiply a 2-digit number by . - . o N . representations
L ¢ How is multiplying by 10’s different from multiplying by
a 1-digit number — no 152 ones
exchange. ' - ' . .
*  What division facts do you know by using the fact
5. Multiply a 2-digit number by * = . _Jc 5 Y Y g f
a 1-digit number — with o N - '
€XCh(1ﬂ9€. What multiplication and division facts does the array show? Tiny is working out 60 + 3 o Write <, > or = to compare the
i nli H satements.
6. LFn_k ‘multlpltcatlon and O O O O g [ know & ones + 3 is equal fo € ones.
division. (1Y 40 10 ) 10) [ So 6 fens + 3 is equal fo 2 fens. g+2 80 =2

/. Divide a 2-digit number by a
1 digit number — no

x =

e — 60 +3 =20
o o B0+ 2 o 80 + 4

exchange. * = Use Tiny's method to work out the divisions,
8. Divide a 2-digit number b - RN A
- Cwidea ~-diglt number by a 80+4 90+3 60+2 70+7
1—dlglF ngmber — flexible * - 4% 80 8 x 4D
partltlonmg' What is the same and what is different about these arrays?
9. Divide a 2-digit number by a
1 digit number — with Stem Sentences:
remainders. o o . X ones is equal to ones, SO X tens is
. Fill in the missing numbers. - -
10. Scaling. equal to tens.
11. How many ways? 2xB6= 3x8= ——=5%3 . + is equal to , SO tens =+ is equal to
2% 60 = 3 =240  150=5x tens.




YEAR 3

Small Steps: There are 63 crayons, . . Keu
1. Multiples of 10. & o | Key Questions: Vocabulary:
. 10, ” * Whatis partitioned into tens and ones? , ~
2. Related calculations. times-tables

*  What is shared into equal groups?

; Share the crayons into three equal groups. F
3. E\ﬁii)rllllcnc?tigiout * How can the place value counters help you divide dwl;l_(;?g{taas
. : L. -Dl:ll'll' uses place value counters to work out 39 + 3 by ? .
4. z/ll‘llfilfllyt ifr;:iblg:t_n::lber by I_ * How can you use the part-whole model to work out the a:ti(:i?:in
exchar? e = e division? P tens )
5 Ml 19 > dicit number b © |000 «  What is divided by ___?
. Py a lglt number by 10 ] 00 . H lexibl it that the t ones
a 1-digit number — with ow can you flexibly partition so that the tens sharing
exchange v uses a partwhale modal to work out 48 + 4 and ones are both multiples of the number you are equal
’ Complete Eva's workings. ividi ?
6. Link multiplication and i g dividing by 5 groups
division. * Do you need tq exchange any tens for ones? dividing
/. Divide a 2-digit number by a | Brdm * Is there a remainder? part-whole model
’ 1 digit number — no * How do you know divided by will have a exchanain
g remainder? . 9. .9 )
exchange. . flexible partitioning
. . * Can a remainder ever be greater than the number you .
8. Divide a 2-digit number by a multiples

. 5
1-digit number — flexible Esther has 13 lolly sticks. j Fj !j H are dividing by Stem Sentences: repeated subtraction

artitioning. remainder
P y She uses them to Mke squares. partitioned into tens and ones is tens and

9. Divide a 2-digit number by a notation
1 digit number — with ones.. _
remainders Tommy uses repeated subtraction to work out 31 + 4 . divided by is equa[ to
10. Scaling ' —4 -4 -4 -4 -4 -4 -4 . can be partitioned into and , as these numbers
1 1' How m;:mg ways? are both multiples of :
0 7 11 15 19 23 27 3 * Thereare __ groupsof .
* There are remaining.

HN+4=7r3 . SO - = r




Small Steps:

1. Multiples of 10.

2. Related calculations.

3. Reasoning about
multiplication.

4. Multiply a 2-digit number by
a 1-digit number — no
exchange.

5. Multiply a 2-digit number by
a 1-digit number — with
exchange.

6. Link multiplication and
division.

/. Divide a 2-digit number by a
1 digit number — no
exchange.

8. Divide a 2-digit number by a
1-digit number — flexible
partitioning.

9. Divide a 2-digit number by a
1 digit number — with
remainders.

10. Scaling.

11. How many ways?

Complete the sentences to describe the fruit.

D=
® ®O00 0O

There are bananas.
There are strowberries.
There are times as many strawberries as bonanas.

Ina ployground, there are 3 times as many girls as boys.

boys boys

girls qgirls

e | T

Which bar model shows the number of boys and girls?

Explain your choice,

The green ribbon is 6 cm long.
The red ribbon is 3 times as long as the green ribbon.

Gom

b
i

Sl ke

-I1

How long is the red ribbon?
Complete the number sentence.

Gocmx______ = cm

YEAR 3

Key

-

Vocabulary:
Key Questions: multiplication
*  What number is 10 times the size of ? scaling
*  What number is times the size of ? repeated addition
*  What length is times as long as ? -~-as many
*  What time is times as long as ? times the size
*  Which is the larger object? How many times larger is comparing
it? ratio
* How can you show the problem as a bar model? scales
place value
! column
Annie has some green and ! I
pink counters. vatue
There are twice as many green _— bar models
counters as pink counters, Dani, Amir and Jock are baking. @ twice as long as
There are T8 counters Cani needs 40 g of butter. length
oltogether. |,
Amir needs 3 times as much arger

.

How many green counters are thera?

butter as Dani.

Jock needs twice as much butter
as Dani.

How much butter do they need
altogether?

e vy

Stem Sentences:

is times the length of .
multiplied by is equal to .
times the size of is




Small Steps:

Multiples of 10.

Related calculations.
Reasoning about
multiplication.

Multiply a 2-digit number by
a 1-digit number — no
exchange.

Multiply a 2-digit number by
a 1-digit number — with
exchange.

Link multiplication and
division.

Divide a 2-digit number by a
1 digit number — no
exchange.

Divide a 2-digit number by a
1-digit number — flexible
partitioning.

Divide a 2-digit number by a
1 digit number — with
remainders.

10. Scaling.
11. How many ways?

Huan has three T-shirts and four pairs
of shorts.

Complete the table to show how many
different outfits he can make.

I o |
Allen

Alex has four shape cards and two digit cards.

T-shirt

Shorts

white

blue

white

wihite

white

spotiy

white

stripy

B o A||O|1

2

She chooses a shape and a digit.

Use o table to find all the different ways that she can do this.

How many different ways can you find?

How do you know that you have found them all?

Aisha is choosing o snack and a drink.

How maony possible combinations are there?

snacks

drinks

.@
&)

YEAR 3

Key Questions:
How can you show the possibilities in a table?
In what order should you list the possibilities?
Starting with ____, how many combinations can you
make?
How do you know you have found all the ways?

How many combinations are there if you have
and ?

Ron has three hats and two scarves,

A A A

He chooses a hot and a scarf,
List all the possible combinations he can wear.
Use o multiplication to work out the number of combinations.

How many combinations are there if Ron buys four more scarves?

Stem Sentences:

For every _ , thereare .

There are X = possibilities altogether.
For each ____, there are ____ choices of

There are ___ ways altogether.

I know that I have found them all because..

Key

Vocabulary:

problems
combinations
combining
groups
different
multiplication
total
possibilities
altogether
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Small Steps:

Understand the denominators
of unit fractions.

Compare and order unit
fractions.

Understand the numerators
of non-unit fractions.
Understand the whole.
Compare and order non-unit
fractions.

Fractions and scales.
Fractions on a number line.
Count in fractions on a
number line.

Equivalent fractions on a
number line.

10. Equivalent fractions as bar

models.

Tommuy

~
Give children o map of Europe. Tell them that Europe

is the whole. Ask children to identify the ports and get
them to answer using the stem sentence,

Europe is the whole. is o part of the whole,

is identifying fractions.

To find
a fraction, I need fo
split the whole info
equal parts.

Which shapes have been split inte equal parts?

-

A"

Which shopes show —'?

DS

How do you know?

Find another way to show %

Tiny is looking at these bar models. One part of

] each bar is shaded.
m They all show the
1 same fraction.
W1

Do you agree with Tiny?

Exploin your answer.

YEAR 3

Ke
Key Questions: Voccaxularu:

Is the diagram split into equal parts? How many equal Jenominators.
parts are there? unit fractions
How many parts are shaded? halves
What is the denominator of the fractions? How do you quarters
know? . _ . thirds
Why is the denominator of this fraction ? fractions
Can you draw a different diagram to show the same whole
fraction? divide
If the shape has not been divided equally, can you find eaual parts
a fraction? quatp

Which shapes have - shaded?
[ ]

T |
— (11

|
T 1

Stem Sentences:
The shape is split into equal parts.

The denominator is
The fraction that is shaded is 1/?
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10.

Small Steps:
Understand the denominators
of unit fractions.

Compare and order unit
fractions.

Understand the numerators
of non-unit fractions.
Understand the whole.
Compare and order non-unit
fractions.

Fractions and scales.
Fractions on a number line.
Count in fractions on a
number line.

Equivalent fractions on a
number line.

Equivalent fractions as bar
models.

Write < or > to compare the fractions.

B T [ [ ]

— —
| —=

JEIE . S S

Match the froctions to the bar models,

1
4

1
2

L | =

1

Loy | =

Write <,

= of = to compare the froctions.

O

oo —=

=
LA |-

I
BLTTTITTTT]

O
10

P |

Write each set of fractions in order, starting with the

smallest fraction.

1 1 1 1 1

YEAR 3

Key Questions:
What is the same and what is different about
comparing fractions and comparing whole numbers?
What is the denominator of the fraction? What is the
numerator?
Which is the greater/smaller denominator? Which is the
greater/smaller fraction?
What do you notice about the denominators and the
order of the fractions? Why does this happen?
Is Y4 greater than 1/10? Can you draw a diagram to
show this?

Huom hos ordered some froctions, but
ome of them is in the wrong place.

A

1 1 1
& a 10 15

1
=

which fraction is in the wrong place?
Howe do you kmow? g
Stem Sentences:
* The denominator is because...
*  The numerator is because...
*  When the numerators are the same, then the __
the denominator, the the fraction.

Key

Vocabulary:

denominators
compare
order
non-unit fractions
unit fractions
part-whole
equal parts
whole
diagrams
bar models
numerators
same
greater
smaller
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10.

Small Steps:

Understand the denominators
of unit fractions.

Compare and order unit
fractions.

Understand the numerators of
non-unit fractions.

How many equal parts has the bar model been split into?
How many equal parts of the bar model are shoded?
What is the numerator?

What is the denominator?

What fraction of each bar model is shoded?

Understand the whole. |

[T BT

Compare and order non-unit
fractions.

Fractions and scales.
Fractions on a number line.
Count in fractions on a
number line.

Equivalent fractions on a
number line.

Equivalent fractions as bar
models.

Stem Sentences:
There are equal parts.
So the denominator is

How do you know?

of the equal parts are shaded.

So the numerator is
The fraction shaded is

Amir and Dexter are looking at a @
bar model.

| [N |

LS

Dexter |

Who is correct?

Explain your answer.

YEAR 3

Keg
Vocabulary:
. numerator
Key Questions: _ ,
— o unit fractions
How many equal parts is the whole split into? . ,
. non-unit fractions
How many equal parts are shaded|circled? .
) . quantity
How do you know what the denominator/numerator is? ;
) i X number line
Where can you see the denominator in the dtagram?
bar model
Where can you see the numerator? )
. denominator
Can you draw a diagram/bar model to represent the
i equal parts
fraction? whole
What is the difference between a unit fraction and a shaded
non-unit fraction? )
difference
Draw bar models to show each fraction. Fal
Amir and Dexter are looking ata @

Which diograms show i?

© ) @ mmn

_:I:[

bar model.

[ |

LIS
=

2
3

SENEEEEE

37
1
1

|
[
]

| |
I 1

|-|'|||_1|__

=

Who is correct?

Explain your answer.




YEAR 3

. Ke
Small Ste_ps° Complete the sentences for each shape. Keu QuestionS' _u‘
1. Understand the denominators — Vocabulary:
: : * Is the whole split into equal parts? ~
of unit fractions. o whole
2 Compare and order unit * How many equal parts has the whole been split into? fractions
' P The whale is split into equal parts. *  What fraction is shaded? .
fractions. diagrams
parts are shaded. * How many more parts do you need to shade to make 1 .
3. Understand the numerators 0 whole? representations
of non-unit fractions. = of the shape is shaded. : _ numerator
L] *  What do you notice about the two numerators?
4.  Understand the whole. . equal to
5  Compare and order non-unit *  What do you notice about the numerator and the denominator
: P Complete each froction so that it is equal to 1 whole. denominator when the whole is shaded? .
fractions. equivalent
6. Fractions and scales. B E 10 . 100 Whitney and Eva are locking at this
7. Fractions on a number line. L] 7 Ll 1 Ll bar model,

8. Count in fractions on a LT T 171 Dexter is thinking of o froction. @

number line. v % more than Dexter's fraction is

9. Equivalent fractions on a 1 whole.

number line. (whitney | - )
1 wa:fﬂ:se_ % What fraction is Dexter thinking of?
| Ewa |

10. Equivalent fractions as bar §
How do you know? @

models.
odels Who do you agree with?

Tiny is drowing a bar model, Explain your answer. @
Stem Sentences:
1 need . .
in shade onather * The whole is split into equal parts.
£ ond then T will have | g . of the parts are shaded.
shaded the whole () * Ineed to shade more parts to make the whole.

*  When the numerator is equal to the denominator,
the fraction is equal to .

Do you agree with Tinyg?

Explain your answer, !j)




YEAR 3

Key

Small S Vocabulary:
ma teps: Write greater or less to complete the sentences. o ; -
ps: Key Questions: comparing

1. Understand the denominators = 5 ordering

of unit fractions 1is than 3 *  Are the numerators the same? . .
2 Compare and order unit *  Are the denominators the same? unit fractions

' P 3. than 1 * If the denominators are the same, how can you non-unit fractions
fractions. 4 4 . denominator
compare the fractions?
3. Understand the numerators . T bar model
) ] et _ e fraci *  Which fraction is greater? How do you know?
of non-unit fractions. & <, >0r=tocompare the fractions. ) . representations
*  Which fraction is smaller? How do you know? P
4.  Understand the whole. e 7] O [ITITITIT1T11 . fractions
: *  What patterns did you spot when you ordered the
5. Compare and order non-unit . reater
: BN | [ [T TT1TT1] fractions? g

fractlons. R . . B numerator
6. Fractions and scales. 5 O 5 7 O 7 Write < or > to compare the fractions. smaller
7. Fractions on a number line. same

i i Lty bl || 3. L 2 2 £ 3

8. Count in fractions on a 10 10 - 3 : = patterns

number line.

—
—
—
—

||

|
| |
O 1O O

Q. Equlvaler.lt fractions on a 5 R 1 5 1 5 o 1
number line. 8 8 9 23 23 7
10. Equlvalent J‘ractlons as bar Write each set of fractions in crder, starting with the smallest.
models. Alex is ordering froctions. g;, 7 & 1 5 4 4 7 2 |, 8
She has spilt ink on her work. LA S 2% 8 J
P # Use the bar models to compare the fractions. Stem Senten’ces hd
- < < 1 . ;
*  When fractions have the same denominator, the

7
OO T TTT ] S TTT] the numerator, the the fraction.
What could the missing numerator be? | | | | | | | _:D . is 9reater than because...

What could the missing numerator 1 O 1 . is less than because...
not be? 7

What is the some? What is different?

=]
= L
=4 |un

Explain your answers.

«



YEAR 3

Key

Small Steps:

What fraction of each shape is shaded? Keu Questions:

1.  Understand the denominators - Vocabularu:
. . *  Where does the scale start/end? -
of unit fractions. B T T 1 , measure
: * How many equal parts are there? What is the
2. Compare and order unit ) . scales
. :— - denominator of the J‘ractlon?
fractions. . ) numerators
* How far along the scale is the arrow/water? What is )
3. Understand the numerators _ i denominators
the numerator of the J‘ractton?

of non-unit fractions. equal parts

*  What are you measuring? What unit is it measured in?

4.  Understand the whole. _ o ) i _ 5 fraction
5. Compare and order non-unit Whitney is using different metre sticks tomec ® Does the height of the container/scale matter: nass
fractions. lengths of lines, . o volume
. H rts h jug's scale it into?
6. Fractions and scales. What fraction of a metre is each ling? oA FET AT R AR s b e length

~

. Fractions on a number line. ) quarters
8. Count in fractions on a - - halves
. L 1 1] L .
number line. i thirds
|

9. Equivalent fractions on a whole
number line.
10. Equivalent fractions as bar

models. kilogram
The weighing scales measure up to 1 kg. W ~ ‘ F W W
What froction of a kilogram is shown on each scale?

Each jug has a copacity of 1 litre, metre

What froction of a litre of water is in each jug? litre

iﬁ

Write the masses in order, starting with the greatest mass. Stem Sen_ten_ces:
* The scale has been split into equal parts.
1 3y 1 kg 1ig L :
3 k9 R 2 F * The arrow is pointing to/water is at the mark.

* The fraction shown is
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10.

Count forwards to complete the number lines.

AR AN,

Small Steps:

Understand the denominators

of unit fractions.
Compare and order unit
fractions.

Understand the numerators

of non-unit fractions.
Understand the whole.

Compare and order non-unit

fractions.
Fractions and scales.

Fractions on a number line.

Count in fractions on a
number line.

Equivalent fractions on a
number line.

Equivalent fractions as bar

models.

|
|
0

LA =t —
L ks —

o - EH

10

How many equal parts are shown on each number line?

Kim hos completed the first example.

— parts

— parts

— parts

Match the number lines to the number of intervals.,

Tom and Mo have both correctly lobelled the same number line.

Tom Mo
L | 1 1 1 | | | | |
| | I | 1 | | | ] 1
o 1+ 2 3 4 0 1 2 3 1
4 4 4 4 4 4 4

What is the same about their number lines? What is different?

YEAR 3

Keg
K [ :

o ey Questions Vocabulary:
What is an interval? fractions ”
Are all the intervals equal? )

) number line
How do you count the number of intervals?
_ bar models
Why can you not just count the markers on the number
line? equal parts
’ intervals
What is the same and what is different about the number label
ine?
line: ) o ) unit fraction
What fraction of the whole number line is each interval
worth? forwards

’ o ) ) backwards
When making intervals on a number line, where is a division
helpful place to start?

] _ numerator
What fraction comes next in the count? How do you )
know? denominator

' estimate
What fraction comes before ? How do you know? ositions
What do you notice about the end of each number line? f.l ht/left
What is the denominator going to be? How do you know? h%lfwa
Which fraction is easiest/hardest to estimate? Why? Y

Stem Sentences:
The number line has been split into equal parts.
Each interval is worth 1/?
The number line starts at and ends at
This means the number line is counting in s.
is greater/less than %2 so will be to the right/left of halfway on the

number line.
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10.

Shode % of the bar model. ‘

Shode % of the bar model. ‘

Small Steps:

Understand the denominators

of unit fractions.

Compare and order unit

fractions.

Understand the numerators
of non-unit fractions.
Understand the whole.
Compare and order non-unit

fractions.

Fractions and scales.
Fractions on a number line.
Count in fractions on a

number line.

Equivalent fractions on a

number line.

Equivalent fractions as bar

models.

The numier lines show that % and % are equivalent fractions.

b= ==

LI e s o

|

[
3
a

dald - Pl ==

Use these number lines to find a poir of equivalent froctions.

|
0

Wl -

Wi|ky ——

g =

Draw number lines to complete the eguivalent fractions,

M= ==

Tilpd ——
W ——

s

m“_n ——

What do you notice?

Complete the sentence.

Eﬁ is equivalent to

L]

L]

o ——

.

YEAR 3

Key Questions:
What other word does “equivalent” remind you of?
What are equivalent fractions?
What are the start and end numbers of each number
line?
Which fractions are in line with ___?
How do you know ____is equivalentto ____?
When drawing number lines/bar models to show
equivalent fractions, why is it important that your
number lines are equal in length?
What do you notice about the numerators and
denominators of the fraction that are equivalent to Y2,
113, and Vs?
What does each whole bar model show?
How many equal parts has the bar model been split
into? What fraction does this show?
How can splitting each part of the bar model into the
same number of smaller parts help you to find
equivalent fractions?

Stem Sentences:
The number lines start at and end at
I know is equivalent to because...
The bar model is split into _____ equal parts.
The bar model shows .

Key

Vocabulary:

equivalent
fractions
comparing
multiple
number lines
equal in value
numerator
denominator
start/end points
bar model
divided
amount




No o

10.

11.

Small Steps:

Use scales.

Measure mass in grams.
Measure mass in
kRilograms and grams.
Equivalent masses
(kilograms and grams).
Compare mass.

Add and subtract mass.
Measure capacity and
volume in millilitres.
Measure capacity and
volume in litres and
millimetres.

Equivalent capacities and
volumes (litres and
millimetres).

Compare capacity and
volume.

Add and subtract
capacity and volume.

How many equal parts has each number line been split into?

Label the number lines.

100 © 100 .
1 | | | i I
100 0 100 L4
N N N T O T A O O
| | | | | ] ] | | | |
0 100 200

ﬁm’ urmw\
poirting to 110, |
because 10 more

tham 100 y

Do you agree with Tiny?

Exploin your answer, g

YEAR 3

Key
Vocabulary:
Key Questions: grams
What is the value at the start of the number line? kilograms

What is the value at the end of the number line? mass

How many equal parts is the number line split into? capacity
What is the value of each interval on the number line? scales
What is the value of each part if 100 is divided into measurements
___ equal parts. dividing
What is the same/different about these two number hundred

lines?
What does this mark on the number line represent?

equal parts
number lines

How do you know? intervals
multiples
What number is each arrow pointing to?
A B
I l I + | 1 1 I | |
I | | | | 1 | 1 |
0 100 0O 200
C
T N TR N (N NN N N N MR SR N SR N
| B R N I I BN NN RN RN S EE R R E—
100 200

Stem Sentences:
If 100 is shared into ___ equal parts, then each part is worth ____.
The number line is countingup in ____s.
When countingup in ____s,the ____ intervalis ____.
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10.

1.

Small Steps:
Use scales.
Measure mass in grams.
Measure mass in
kilograms and grams.
Equivalent masses
(kilograms and grams).
Compare mass.
Add and subtract mass.
Measure capacity and
volume in millilitres.
Measure capacity and
volume in litres and
millimetres.
Equivalent capacities and
volumes (litres and
millimetres).
Compare capacity and
volume.
Add and subtract capacity
and volume.

What is the mass of each object?

Complete the sentence for each arrow.

B A C

k9 T I L L
0

T 1 1 T 1 1 1° 1
a

Arrow is pointing to q.

What froction of a kilogram is each arrow pointing to?

What mass is each arrow pointing to?
Give your answers in kilogroms and grams.

kg oF

;
|+ |
rrT1r1rrr7r7r7rrr 17 T T1r 11T T1mTIrT T IrTl1
g 0 1,000 2,000

YEAR 3

Key
Vocabulary:

Key Questions: mass

What does mass mean? grams

What units do you use to measure mass? thousands

What is the start/end value on the scale? scales

How many equal intervals are there on the scale? number lines

How do you know what the missing numbers are? intervals

If the measurement is halfway between two marks, how start/end point

can you work out what it is? units

What are kilograms and grams? What is the same and measure

what is different about them? equal

How many grams are there in 1kg? halfway

How many grams is half/quarter of a kilogram? kilograms

If a mass is between two whole kilograms, how can fractions

you work out the exact mass? equivalent

divided

Stem Sentences: same/different

The start of the scaleis ___ grams. half

The end of the scaleis ____ grams. quarter

There are ____ intervals.

The scale is countingup in ____s.

The mass of the is grams.

The mass is between ___kgand ____kg.

Each interval is worth ____g.

The mass is kg and g.

The arrow on the scale is pointing to kg and g.

The object has a mass of kg and g.
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10.

11.

Small Steps:

Use scales.

Measure mass in grams.

Measure mass in
kRilograms and grams.
Equivalent masses
(Rilograms and grams).
Compare mass.

Add and subtract mass.

Measure capacity and
volume in millilitres.
Measure capacity and
volume in litres and
millimetres.

Equivalent capacities
and volumes (litres and
millimetres).

Compare capacity and
volume.

Add and subtract
capacity and volume.

Sort the pictures into the table.

Equivalent to 1 kg

Mot equivalent to 1 kg

What is the maoss of the box?

of the box is over

o )

1 think the mass
.'-1.__.. ¥
_:—'—"'-H-’li_

@k the %
1,000 g [
_'_'_'_,-r".j_

of the box is between
0 and 1,000 g.
S L Alex

I think the mass
of the box is between
500 g and 1,000 g. _(3__

| Whitney ]

s B!
. Dexter |

Whose answer do you think is the best?

Explain why.

~/

Key Questions:
How many grams are there in a kilogram?
How many grams are there in half a kilogram?
How many grams are there in one quarter of a
kilogram?
If a kilogram is split into ___ equal parts, how many
grams is each part worth?
What is ____ equivalent to?
How many more grams are needed to make Tkg?

Work out the mass of each box.

Stem Sentences:

g is equivalent to Rg.
g+ = 1,000g = 1kg.
I need more grams to make a kilogram.

This mass is/is not equivalent to 1 kilogram because....

YEAR 3

Key

Vocabulary:

measure
grams
kilograms
scales
units
thousand
mass
addition
subtraction
amount
fractions
half
quarter
equal parts
worth
equivalent
more
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10.

11.

Small Steps:

Use scales.

Measure mass in grams.

Measure mass in
kRilograms and grams.
Equivalent masses
(kilograms and grams).
Compare mass.

Add and subtract mass.

Measure capacity and
volume in millilitres.
Measure capacity and
volume in litres and
millimetres.

Equivalent capacities
and volumes (litres and
millimetres).

Compare capacity and
volume.

Add and subtract
capacity and volume.

Complete the sentences.

bonanas howve the same mass as apples.

1 banana hos the same mass as apples.

The mass of 1 banana is

Rosie puts different amounts of flour onto the scoles,

For each scale, say what will happen and why.

Br_ Brg
Br__ B

Write <, = or = to compare the masses.

500 g Q 500 kg

900 g O 1 kg
1

210qg O Ekg

1kgand 300 g O 3kgand 300g
1 kgand 300 g O 1 kg and 100 g

4 kgand 27 g O 27 kgand 4g

than the mass of 1 apple.

YEAR 3

Key

Vocabulary:
Key Questions: compare
Which object is heavier/lighter? How do you know? masses
Which is heavier: Tkg or 100g? .grams
Which is heavier: Tkg and 100g or 1kg and 400g? ktlogrqms
Which is heavier: 5009 or 3kg and 100g? h.eaVLer
Which is heavier 600g or Y2kg? lighter
If you know the total mass of two identical items, how can you sca-les
work out the mass of one of them? units
If 2 have the same mass as 3 , Which object is measure
heavier? hundred
fractions
Here are three masses._ Q half
| 20 kg and 600 g | 20 kg I I 18 kg and 500 g | same
Match each mass to the correct person. equal
total
Ay mm\ Ay mass |3 identical

f<=}

=

I: 4% Ee

= greater than
of 40 kag.

greater fhan
MMax's ﬂ'lclig//

:'_- Teddg

M',.-' IMass
is greater tham
18 kg but less than

ZDI-:g

Stem Sentences:
____Rgis heavier/lighter than ____kg, so ___ kg and
than___ _kgand ___ g.
* The number of kilograms is the same so I need to compare the ____
* __ kgand ____ gis heavier/lighter than____kgand ___g.

g is heavier/lighter
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10.

11.

Small Steps:
Use scales.
Measure mass in grams.
Measure mass in kilograms

A jar of cookies haos o mass of 800 g.

The empty jar hos o mass of 350 g.

What is the mass of the cookies?

and grams.

. . Rosie has 600 g of sweets.
Equivalent masses (kilograms
and grams). Jack hos 1 kg and 200 g of sweets,

Compare mass What is the totol mass of their sweets?

Add and subtract mass.
Measure capacity and volume
in millilitres.

Measure capacity and volume
in litres and millimetres.
Equivalent capacities and
volumes (litres and

Huan uses part-whole models to odd 2 kg 300 g to 3 kg 250 g.

‘ 5 kg + 550 g = 5 kg 550 g

millimetres).
. Use Huan's method to work out the totals.
Compare capacity and
volume. 3kg450g+4kg200qg 4kg105g+2kg300 g
Add and subtract capacity
and volume.
Complete the bor models.
500
? 5 kg ? o9,

|
& kg and 900 g 3 kg and 900 g

3 kgand 100 g

1 kg and 450 g

A

YEAR 3

Key
Vocabulary:
Key Questions: mjzs
How can you add using kilograms and grams? E
Which part did you work with first? Why? kSlll tract
What method could you use to add to ? tograms
What method could you use to subtract from grams
? quantities
How can you show this question using a bar model? partition
What objects can you use to help complete this separate
calculation? hparts )
Do you need to add or subtract to answer this thousan
ion? bar model
question? :
calculation
What is the total mass of the two presents? total
difference
equal

Stem Sentences:

The total of ____glkgand____g/kgis ___ g/kg.

The difference between ___glkgand ___ glkgis ___ g/kg.
__ kg add/subtract ____kgis equalto ____kg.
____gadd/subtract ____gisequalto ___ g

The total/different is kg g.




YEAR 3

Keg
Vocabulary:
Small Steps: Label the divisions on the scales of the jugs. Keu Q u.esti.o ns: CCLp(lCitg
1. Use scales. Complete the sentences to help. . ) g - . volume
. *  What is the difference between capacity and volume? .
2. Measure mass in grams. ) i ) liquid
e e o 200 mi *  What is the capacity of the container? How do you
3. Measure mass in kilograms know? amount
and grams. " ) hold
.9 ) *  What is the difference between the start and end ..
4. Equivalent masses (kilograms millilitres
values on the scale?
and grams). ) measure
* How many equal intervals are there?
3. Compare mass. i *  What is each interval worth? greater
6. Add and subtract Mass. The dﬂemnce hetween the start and end values on the : estimating
} scaleis * How can you work out halfway between two marks? di
7. Measure capacity and volume , . 2. - -5 ifference
A There are equal intervals. What unit is the volume/capacity measured in?
in millilitres. . ) ) start/end
. = = * How many millilitres are there in 1 litre?
8. Measure capacity and volume . values
i litres and millimetres * How many intervals are there between two marks on a scale
. ) ] _ 5
q Equlvalent capacities and What is the volume of water in each jug? scaler equal
volumes (litres and am i intervals
millimetres). o1 Stem Sentences: worth
10. Compare capacity and * The scale has been split into equal parts, so each halfway
volume. mark represents ml. unit
11. Add and subtract capacity * The water is full to the mark, so the volume of litres
and volume. water is ml. thousand
* The arrow on the scale is pointing to l and
ml.

Half of the water from bucket A
is poured into bucket B.

Shode bucket B to show where
the water will reach.

* The volume is between | and L.

B
s *  There are intervals.
* Each interval is worth ml.
* The volume is | and ml.
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Keg
Srmall St Vocabulary:
ma eps. . .
1 Use scales ' What is the same and what is different about these jugs? Ke‘_l QueStlonS: capacity
2' Moasire rr.1ass T arams *  How many 100ml containers full of water fill a 1 litre volume
) ) 1,000 mi— ﬁ 1 litre — . '
3. Measure mass in ? i e container? 'llt'r'es
: kiloarams and arams ] B * How many millilitres are equivalent to 1 litre? millilitres
4 E u?valent maszes ' . . * How many equal parts are there? sca.les
' (kcitlo rams and arams) N ] What is each interval worth? units
5 Comg are mass 9 ' ; 7] * Do you always need to count up the scale to find out measure
) ) ’ S ) i
6. Add F:md subtract mass ] how much there is? equlvalent
' , ' * How can you use number bonds to 100 to help? thousand
7. Measure capactty and What is the volume of liquid in each jug? addition
volume in millilitres. Give your answers in millilitres, subtraction
8. Measure capaclty and i Complete the number sentences. amounts
volume in litres and 30mi+70ml=___ml 300 ml+700 ml=___ml fractions
millimetres. half
. .. ASml+55ml=___mil 450 ml+550ml=___ml
9. Equivalent capacities and quarter
volumes (lltres and 1M0ml=38ml=_—mil 1,000 ml = 380 ml = —— mil containers
millimetres). 21 ml+___ml=100ml 210 ml+_ml=1,000 ml equal
10. Compare capacity and . parts
volume Shade the jugs to show where the water will reach. — i+ 340 ml = 1,000 mil — ml+ 340 ml = 1 litre int l
) interva
11. Add and subtract Tiitre— Tlitre— worth
capacity and volume. ] i number bonds
: . Stem Sentences: ore
] ’ * Thereare _ mlin 1 litre.
- i . ml + = 1,000ml = 1 litre.
500 mi 00 150 m] 1000 i e Ineed more millilitres to make 1 litre.

* The capacity/volume is/is not equivalent to 1 litre
because...
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10.

11.

Small Steps:

Use scales.

Measure mass in
grams.

Measure mass in
kRilograms and grams.
Equivalent masses
(kilograms and
grams).

Compare mass.

Add and subtract
mass.

Measure capacity and
volume in millilitres.
Measure capacity and
volume in litres and
millimetres.
Equivalent capacities
and volumes (litres
and millimetres).
Compare capacity
and volume.

Add and subtract
capacity and volume.

Each container has the same capacity.

WU

Put the containers in order of the volume of liquid they contain.

Start with the container with the greatest volume.

Is the statement true or false?

W

.o
1

The volume of water in
Jug A is greater than the
volume of water in jug B.

Explain your answer.

Key Questions:

What is the diﬁerenczz between capacity and volume?
Which container do you think has the greater capacity?

Why?

Which container do you think has the greater volume of

liquid in? why?

How can you work out the actual capacity of each

container?
What is each interval worth?

How can you workout halfway between two marks?

What unit is the volume/capacity measured in?
How many millilitres are the in litres?

Write <, > or = to compare the capacities.

500 ml 5 litres

O O

Stem Sentences:

200 ml

YEAR 3

Key

Vocabulary:

litres
millilitres
compare
capacity
Volume
estimation
greater
full
nearly full
half full
nearly empty
greater than
less than
symbols
measured
difference
interval
worth
halfway
unit

The capacity of the first container is than the capacity of the second

container because...

The volume of liquid in the first container is

second container because ..
There are millilitres in litre.

than the volume in the
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10.

11.

Small Steps:
Use scales.
Measure mass in grams.
Measure mass in kilograms
and grams.
Equivalent masses
(kilograms and grams).
Compare mass.
Add and subtract mass.
Measure capacity and
volume in millilitres.
Measure capacity and
volume in litres and
millimetres.
Equivalent capacities and
volumes (litres and
millimetres).
Compare capacity and
volume.
Add and subtract capacity
and volume.

Whitney has some jugs of water,

She pours all the water from jug A into jug B.

Howe much water is now in jug B?Y

Alex has this orange juice in a jug.
She drinks 300 mil.

How much orange juice is left in the jug?

Amir uses part-whaole models to add 3 1 500 ml and 21400 mil.

3 litres + 2 litres = 5 litres
500 ml + 400 ml = 300 mil
So the total is 5 litres 200 ml.

Use Amir's method to work out the totals.,

11300 ml+ 21450 ml 21 400 ml + 500 ml

21600 ml + 400 mi 41150 mil+ 31800 ml

YEAR 3

Key
Vocabulary:
Key Questions: adding
What units are being used? Can you add/subtract subtracFlng
them? capacity
How many litres are there altogether? How many volu.me
millilitres are there? units
What volume do you need to add to reach 1 litre? How .ltt.r.es
much more liquid s still left to add? millilitres
How could you work out the difference? part-whole model
In what order are you going to do the calculations? tho.usand
Do you have to do them in a certain order or is there a equivalent
more efficient method? whole
altogether
more
Work out the subtractions. di]cjcerence
order
31400 ml-2| 101195 ml -8 mi calculations
method
101195 ml-31 31400 ml - 400 ml equal
total

Stem Sentences:
__litres add/subtract ____litres is equal to ___
litres.
_____ml add/subtract mlis equalto ___ ml
So the total/differenceis | ml




Small Steps:

1. Measure in metres and
centimetres.

2. Measure in millimetres.

3. Measure in centimetres and
millimetres.

4. Metres, centimetres and
millimetres.

5. Equivalent lengths (metres
and centimetres).

Equivalent lengths
(centimetres and millimetres).
7. Compare lengths.

8. Add lengths.

9. Subtract lengths.

10. What is perimeter?

11. Measure perimeter.

12. Calculate perimeter.

o

Mo and Annie use metre sticks to measure their height.

How tall are they?

om

What is the length of the line?

o1 2 3 4 5 & 7 8 9 10 11 12 13 14 1

What is the length of the lollipop?

01 2 3 4 5 6 7 8 9 10 11 12 13 14 1
cm

Tiny is measuring the table top.

The length
of this table is
1 m and 50 cm.

Do you agree with Tiny?

Explain your answer. @

YEAR 3

Key Questions:
Where should you start measuring from on your ruler?

What is the length of in centimetres?
What is the length of in metres?
What is the length of in metres and centimetres?

Would you measure the length of the classroom in
centimetres or metres? Why?
What equipment would you use to measure the length

of _ 7?

Use a ruler to measure the lines.

A B

Stem Sentences:

The is cm long.
The is m long.
The is m and cm long.

Key

Vocabulary:

metres
centimetres
length
ruler
unit
measurement
heights
m
cm
tape measure
metre stick
trundle wheel




YEAR 3

. Key
Smau StePs' What are the lengths of the lines in millimetres? Keu Qu,esti_on_s: .
1. Measure in metres and o = : Vocabulary:
. *  Why is it important to start measuring from zero on o ~
centimetres. our ruler? millimetres
2. Measure in millimetres. AU Ll B J s unit
) ) imm fmm * How many intervals are there between 0 and 1cm?
3.  Measure in centimetres and . ) measurement
1 e So how many millimetres are there in Tem?
millimetres. (EETEIEEE (R - Where is the Smm mark on your ruler? smaller
4. Metres, centimetres and ) ar ) lengths
. 0 10 20 30 40 50 0 10 20 30 40 50 *  What is the same and what is different about g
millimetres. (mm mim i ) ) . measure
5 Equivalent | hs ( measuring a length in centimetres and measuring a timet
) quiva er.1t engths (metres What lengths are the arrows poifting to? length in millimetres? centimetres
and centimetres). . o ruler
) B 1cm *  What is the length of in millimetres?
6. Equivalent lengths oecm B { *  Would you measure the height of the door in mm
(centimetres and millimetres). | + L AT AR S owddy g cm
7. Compare lengths. 0 mm 10 mm tens
8' Add lengths' Measure these lines to the nearest milllimetre. add
9. Subtract lengthS- What are the lengths of the lines in millimetres? ones
10. What is perimeter? A

i B
11. Measure perimeter. nl 1| ! l ! | 4| 5' DI ! | I J l 3| dl I ! l
12. Calculate perimeter. s £m
Whitney measures her .
rubber in millimetres. Q

Is the statement true or false?

M',,r_mbb;" is less
,ﬁlﬁéﬁzle:ghd:zg A length measured in millimetres Stem Sentences:
w e Tmmis than 1cm.
' e Tmmis than Tm.
Talk about it with a partner. h}f

Work out the length of Whitney's rubber,



N
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8.
Q.
10.
11.
12.

Small Steps:
Measure in metres and
centimetres.

Measure in millimetres.
Measure in centimetres and
millimetres.

Metres, centimetres and
millimetres.

Equivalent lengths (metres
and centimetres).
Equivalent lengths

(centimetres and millimetres).

Compare lengths.
Add lengths.
Subtract lengths.
What is perimeter?
Measure perimeter.
Calculate perimeter.

Tiny measures the sweet,

The sweet is 3 cm

{dﬁ mim long.

Do you agree with Tiny?

Exploin your answer,

1@ 11 12 13

14

Dexter, Alex and Tommy are
comparing the lengths of
their pencils.

=

P .
| Dexter |

//i T
My pencil is half

gth of [ Alex

Wﬁs pencil.

\ the len

L.

@

| Tommy |

My pencil is shorter
than Dexfter's pencil

-

What is the length of each object in centimetres and millimetres?

but lenger than
Alex's pencil.

Whaot could be the length of
Tommuy's pencil?

Compare answers with a partner. -..)

YEAR 3

Key Questions:
Which is greater in length, Tmm or 1cm?
What are the main things to remember in order to
measure accurately using a ruler?
Is the __ an exact number of centimetres long?
How many millimetres past the last centimetre interval
does the _ reach?
How do you write a length that is not an exact number
of centimetres?
How does the 5mm interval help you to measure the
length?

Measure the lines.,

Give your answers in centimetres and millimetres.

C
A
B
B
Stem Sentences:
. cm mm=__cmand ____ mm
* The is cm and mm long.

Key

Vocabulary:

measure
centimetres
millimetres
ruler
forwards
backwards
accurate
lengths
greater
mm
cm
interval
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11.
12.

Small Steps:

Measure in metres and
centimetres.

Measure in millimetres.
Measure in centimetres and
millimetres.

Metres, centimetres and
millimetres.

Equivalent lengths (metres
and centimetres).
Equivalent lengths

(centimetres and millimetres).

Compare lengths.
Add lengths.
Subtract lengths.
What is perimeter?
Measure perimeter.
Calculate perimeter.

Which unit would you use to measure each item?

Sort the items into the table.

length of o car

length of o pencil

length of a fingernail

length of a gorden

length of a playground height of o water bottle
Metres Centimetres Millimetres
Write the lengths in order,
Start with the shortest length.
10 m 10 mm 10 cm

Is the statement always true, sometimes true or never true?

A length measured in metres will be longer
than a length measured in centfimetres.

Exploin your answer.

@

Write <, > or = to compare the lengths.

cho 10 mm
Sﬂmmozm
14m©93cm
3mund8?cm©4m
Emundiﬂcmo_ilﬂcmundﬁm
14 m and 5 cm O 14 mand 5 mm

Key Questions:
How many millimetres are there in a centimetre?
How many centimetres are there in a metre?
Which is longer, Tm or Tcm?
Which is shorter, Tcm or Tmm?
Which is longer, 3m or 60cm?
Which is shorter 4cm or 20mm?

What unit would you use to measure the length of
?

Use the digit cards to complete the stotement.

1((2//3||4||5

1mand 34 cm =< cm< 2 m

Find all the possible answers.

Stem Sentences:
____mis shorter/longer than ____cm.
____mmis shorter/longer than ____cm.
Thereare . mmin Tcm.
Thereare _ cmin Tm.

YEAR 3

Key

Vocabulary:

compare
units
measurement
metres
measure
longer
distance
centimetres
millimetres
equipment
length
comparisons
m
cm
mm
longer
shorter
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Q.
10.
11.
12.

Which measurement is the odd one out?

Explain your choice.

Small Steps:

Measure in metres and
centimetres.

Measure in millimetres.
Measure in centimetres and
millimetres.

Metres, centimetres and
millimetres.

Equivalent lengths (metres
and centimetres).
Equivalent lengths

(centimetres and millimetres).

Compare lengths.
Add lengths.
Subtract lengths.
What is perimeter?
Measure perimeter.
Calculate perimeter.

500 mm 50 cm

m 500 crmi

o | =2

C

Use the bar models to complete the sentences.

1m 1m 1 m 1m
100 cm
am= cm
100 cm 100 cm 100 cr

m = 300 cm

Esther uses the a part-whole model to find equivalent lengths.

200 cm=2m
260 cm = 2 m and 60 cm

Use Esther's method to convert the lengths into metres

and centimeatres.

120 cm 125 cm 367 cm 542 cm
Complete the bar models.
230m cm
m cm 15 cm 1 m
198 cm cm
m cm im 75 cm

YEAR 3

: Key
_ Key Questtpns: Vocabulary:
How many centimetres are there in Tm/1cm? etres
How can you work out how many centimetres/millimetres m
there are in 6m/4cm? .
What is __ centimetres in metres? equivalent
How many centimetres/millimetres are therein ___ m/cm co:lr\r/lert
and ___ cm/mm? ltiples
How can you partition 430cm/47mm to help you to write mlltldfeds
the measurement in metres and centimetres/centimetres g
and millimetres? partition ‘
How many centimetres/millimetres are there in Yam/ Y2cm ? ﬁiﬁiﬁiﬁzg
So how many centimetres are there in 4 %2 metres? lenaths
How do you know ___mmand ____ cm are equivalent? J
part-whole model
bar model
number line
Stem Sentences: commeon ractions
Thereare _ _cmin Tm. m;.ltfz!ytng
Tm = 100cm, so m = cm. wiaing

I can partition cm into cm and cm.

There are 100cm in Tm;so __cm=___ mand cm.
Yam=___ cm.
lem=10mm,so__ mm=___ cm
Tcm = 10mm, so cm = mm
mm = mm + mm = cnand _ mm
cmand _ mm = mm + mm = mm
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Small Steps: * Jackis comparing 34 mmand 2 cm & mm. K Q t. Key
' e uestions.:
1. Measure in metres and Complete the sentences. J - - ) Vocabulary:
. N — ¢ How can you compare lengths given in different units? ~
centimetres. cmbmm= mm . . , , compare
9 Measure in millimetres 34 mim is than - *  Why does finding equivalent lengths with the same unit order
3 Measure -m cent'lmetres and Is there another waoy to compare the measurements? make Lt easter to ComPare lengthS? lengths
’ 1 * Does it matter which unit of measurement you use to
millimetres. » Amir and Dora measure their heights. compare? convert
4. Metres, centimetres and Amir's height is 127 cm. parer , measurements
. * Is the unit of measurement or the size of the number )
millimetres. Dora’s height is 1 m and 30 cm. More iMportant? measuring
5. Equlvalent lengths (metres Write taller or shorter to complete the sentences. e How maljl mm/.cm are there in cm/mm? ngbOlS
and centimetres). Amir is than Dora. Y ’ millimetres
6. Equivalent lengths Dora is than Amir. centimetre
(centimetres and millimetres). ) Write the lengths in order. metre
7. Comp are lengths. Brett hos put some lengths in @ Start with the shortest length. shorter
8 Add lengths order from shortest to longest., longer
9. Subtract lengths. 230 cm 750 mm 2m25cm taller
10. What is perimeter? 170 mm height
11. Measure perimeter. am 1m 75 cm 170 em equal to
12. Calculate perimeter. 74 cm 7 mm

Write <, > or = to compare the lengths.

Stem Sentences:

10T cm O tmiocm . m cm is equal to cm.
1 .
80 mm O 8 cm (el . cm is than cm, so the greater
length is cm.
soem O 20 mm . cm is equal to mm.
Fill in the missing measurement. .
$00 mm 1 m 50 cm ] ) . mm is than mm, so the greater
Find three possible answers. ‘J:'
.

length is mm.
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. Key
Small StePSo Dora builds this tower out of boxes, Keu Q u,esti,o ns. v .
1. Measure in metres and _ ) — - ocabulary:
) How tall is Dora's tower? * How many centimetres are there in Tm? —
centimetres. ) ) ) add/adding
5 M ) i Dora puts a third box on the tower. 62 cm * How many centimetres are there in m and l h
3. Measure in millimetres. ) The bo is 30 e tall m? — engt sd
. easure in centimetres an . . ' - . measure
millimetres How toll Is Doro’s tower now? * How many millimetres are there in 1cm? Measurement
. Can you write your answer another way? *  Why is it important the lengths have the same unit of ,
4. Metres, centimetres and . _ units
. measurement before adding/subtracting them? .
millimetres. : . . ! equivalent
) Complete the bar models, *  Which unit of measurement will you use to find )
5. Equivalent lengths (metres ) i i strategies
. 78 mm 365 o equivalent lengths before adding/subtracting them?
and centimetres). Whu? exchanges
6. Equivalent lengths 70 mm mm cm | 65 mm g7 ) ) subtracting
) - * How did you find the total length?
(centimetres and millimetres). . ) . whole number
7 C l h * Does it matter in which order you add the lengths? }
. ompare lengths. - _ . . . . conversions
What is the difference in length hetween the bottle of water and What is the dlﬁerence in length between the two .
8. Add lengths. the can of fizy drink? biects? reduction
objects? .
q. Subtract lengths WI"iTEIJEIUfﬂHSWEfiﬂCEH'EiI‘I‘IEtFES. ? d.l.‘f_ference
) ) * How can you check that you have the correct answer:
10. What is perimeter?
11. Measure perimeter.
12. Calculate perimeter.
_ - -~ Stem Sentences:
Sam, Ron and Esther take part in a stonding jump competition. I RN B R B B A AR A
Complete the table to show their total jump distances. — M+____mm=__mm+___mm=__  mm
. m + cm = cm + cm = cm.
Child | Jump? | lump2 | Jump3 | Total « I am going to convert all of the units of measurement to because..
Sam a0 cm 65 cm 1Tmidcm ° mm/cm= 1cm/1m
Ron B5 cm B5 cm B0 ocm ° cm - mm = mm - mm = mm
Esther | 75cm 1m |1m25¢em 0123456785101 121311 . m - cm = cm - cm = cm.

Who jumped the greatest total distance?
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Key
Vocabulary:
Small Steps: Scott counts around the edge of the rectangle to find o . -
1. Measure in metres and the perimeter. 1em Keg Questions: pgrlmeter
" centimetres.  [TOIITIILI 4 *  What does perimeter mean? distance
o EdHUNEENNEY ¢ When might someone need to find the perimeter in real life? 2-D
2. Measure in millimetres. 1 L 9+349+3=24 : . , open/closed
3. Measure in centimetres and | + 1| The perimefer is 24 cm ¢ Why are you unable to find the perimeter of this shape? penic
' millimetres BUMENNMUNYE * How would you use your finger to trace the perimeter of this piece of cm;ntmg
: edges
: 7 cm paper?
4. Metres, centimetres and 4 > . . i
rillimetres *  Which of the shapes has the greater perimeter? miscount
, ' Jem *  How do you know? measure
5. Equivalent lengths (metres I . , . i
agd centlmetrgs) ( * How does the squared grid help you to find the perimeter? s.Ldes
. ' *  What equipment is useful for measuring the perimeter of a shape? centimetres
6. Equivalent lengths 6 cm . . . ) properties
(centimetres and millimetres) e * Does start in different places when measuring the perimeter give you
7. Compare lengths . Izm a different answer? calculate
' P grns. . Sen * Do you need to measure all sides? How do you know? equal
8. Add lengths. _y' o . . . , double
*  Which method do you prefer, to find the perimeter of a square:
9. Subtract lengths. 6cm , , . width
10. What is perimeter? * Can you find the perimeter of a shape with a curved edge? How?
1 1. Measurep erimeter. T e il * Are any of the sides equal? length
12' Calculatep erlmete;' em ! * How can you work out the perimeter of the shape? add
' P ’ perimeter = 35 cm *  What other method could you use to measure before you can find
the perimeter?
Stem Sentences: * How can you work out the lengths of the sides that are not labelled?
* The perimeter of shape is .. * How many sides do you need to measure before you can find the
* This shape does/does not have a perimeter because... perimeter?
* I can find the perimeter of this shape by.. * Do the lengths need to haver the same unit of measurement? How do
. cm + cm + cm cm = cm. you find equivalent lengths?

* Opposite sides of a rectangle are
* The missing side length is cm because...



